Complete Course of Astrology

Erection and Internretation
of Horoscones

BY

Georze Beyer

With the aid of this course I aim to eliminate 2 lot of
vglast, mattere thzt hzve been carried in text books thet are
sbsolutely ueeless and that makes znyone discouraged. The method
explained herein la simple and, 1f follewed carefully, should
give the desired resulte, Practically all that la contalned herew
in 18 of my own vroduction and the student who has delved already
into otoner text books should find this method Ao redically differ-
ent that tnere is hardly a comparison possible.

However, as 1ls the cese with all subjecta waerein mathematics
are used, painstaking care mist be excercleed to make no errors 1in
calculations, 2else the whole horosccpe would turnm cut to be wrong,
My suvegestion Lo etudents for lmmortant noroscopes would te to make
one complete first, pat it awey and make another one for the game
moment completely and see howv the Tesults check. Tlme should actually
ellapee between one and the ather work so that the calevlatione are
not made erromneocusly twice.

Lesaon I
The erection of a chart (horoscove)

We nave to acquire the following "tools" to work with: an
ephemeris for the yesar the horoscope is to be mde. Supposing we
wisn to meke a horoscope for 2 native born August 3td 1801, we have
t2 buy an enhémeris for the yezr 1901 at some book store,

The next ltem we need 1s a Table of houses for the vaericua
latitudes. Because it is of great difference whether you are making
a horosgcome for a nersgon born at ¥ew York or one born et Mexico Oity.
The sec—called "Ranhael Evnhemeris" ceonteins Tavles of houses for KYC,
Londeon and Liverpool, However, none for other latitudes, W¥hen eother
latitudes are required it 1as suggested to get "Raphsel's Tables of
Housesg". They are permanent and good for all timee.

In these lepsons I 2m going to exvlain the Tuleg and regulatims
steny by step, just as if I eréct the horoscone for myaelf end as
I interpret it for myself. Ae working exemple we take the native
born August 3rd, 1901, Latitude 48°No. 15° Bast of Greenwich, at
9.01.37 true loeal time.

Step #1: The sidereal time of birth is necessary. This wvalue
is elways found in each ephemeris fellowing the date. In case the
birth occcuras before noon you take the sideresl time value of the
sTevious dey, 1if birth osdurred after noon you take the sldereal time
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of the same date, The nid. time for August Jvd 1901 at noon is
given in Raphael's e¢phemeris for 1801 as: 8hourse 4% min.29 sec.
gnd for the day before ! & houre 41 min.32 eeconde. ¥e have to
vee the previcus day's walue becsuse the bilirth accurred before
noen.

a) To this value we add the time ellavsed since noon. In our
case the birth cccurred at 9.01.37 AM; thus we add fiTst the 12
hours that ellapsed from tue previous noon to midnight; then we
add toc tt the time ellavesed from midnlght $11 S houra 1 minute
37 eseccnda in the forenoon. .

#) FPurthermere We have to add in every cszse 10 seconds for each
nour or proporticnately for less than an hour that has ellapaed
as an adjustment. (The sideresl time advencesa in one dey or in 24
bours apout 3 ainutes 57 seconde and the above adjustment takes
care 5f that sltuation). Thus in our example we have 12 pluas €
nours,21l in ell. The minutes do not count in Qur example because
it e just one minute, Sumnosing 1t would be 9.30 AM, then we would
nave to coneider the 30 minvtes as egualling 5 seconds in our ad-
‘justment. The 21 houTrs to be adjusted 8t 10 seconds per hour glves
210 secorde or 3 minutes 30 geconds, This value we alse have to add
when euuring up.

¢} The next adjustment we have fto mexke 1s teking care of the dist-
ence of the bilrih piace from Greenwich. When Eant of Greenwich, we
nave to deduct the adjvsiment (sueh as for heoroscopes of natives
born in Zermany, Italy, Sweden etc); when Weet of Greenwich {=uch
as for natives oorn in Yoain, U.3.A., Canade etc) we have to add
this adjueetment, For each degree we have to adjust 2 seconds. Thus
our native being tornlf degrees East, we nave to deduct 30 eeconde.
For a native of Jew York we would add 75 times 2 seconds or 150"
or 2 minutes 30", These zd]ustment values aeve nothuing te do with
the time of birth, but only with %he distance of plece of wirtth
from Greenwich, England. This distance is expressed not in miles
out in degrees of longttiude.

Al]l these wvalueg we now add *ogether (or deduct) so as te
cbtain the final correct eideresl time. Thus:

3id. Time noon Avugust 2ad 13901 3 h 41 m 33 &

Time ellapsed eince that ncon 12 n
2k 0L m 37 5
edjustment for hours &llepsed Sl0s 3m 30 s
adjustment for longitude & 2s
(add wier Weat, deduct when E=st of Gr.) - 3Q &

2% n 48 m 09 &
Because we run ebove 34 hours, we have to deduct cne Tound of the
clocke 2% h 46 m 99 ¢ lese 24 hours equale 5 - 46 m 33 8

This 1s the real true sijereal time for the moment of birth of
this native.

S3tep #2: Ve now look up in the Tatle of houses faT 48 degrees
(Native was born 43 degrees Worth ) the cueps of the houses that
are given there for thle esidereal time; 5 h 48 m 0% s. The nemrest
availatle Table in Raphael's ewhemerides is the ¢he for Vienna.
Eowever, I have old Euronean Tabtles whersin the Table of Houses
for exactly 48 degrees ate glven and we .shall use them, Thie Table
{2180 Rapheel's looks the came) skowa the following: It lisis at
the left the sidereal beginning with O hours and running up to 24
hours.; this is the first column. The colwmns Ipllowing are warked
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se: 10, 11, 13, Asc., 2, 3, This Indicmtes the number of the house
cusp. Underneath you will find the .different slgns of the Zodlac
end the numbers below column by column show the exact degree that
is found on the cuep of & house at the monent. COFf course we know
nothing so far about a house cusp, nor of & sign of the Zodlac, but
we shall presently get to 1t,

I shall 1llustrate a small portion of thie Table of Houses for
48 degreea to teke care of our examnple:

Sid.Time 10 11 12 Lac. 2 3
PO M. i 7 G Lig = m,
Eh3Bulis 5 [=] 1 Z5.5% 2] al
Sh42m34g 28 1 3- 28.47 21 21
v 514635585 27 2 3, 2v.35 22 22
S5hE51ml7s 28 3 4 28.24 23 23
5h55u398 29 4 4 25.12 24 24
5h00m00s 30 5 5 0Lt 0 25 25

Before we now go further we heve to get z2ogualnted with the
zodlacal #lgns in the heaven., There are iwelve of them and thelr
sequence is constantly the same. Here they are!

Y Arieg - Taurue ¥ —» Gemini IL —s> Oancer &

Tl Leo- —= Virgo 7 — Llbra == —> Scorplo M,

A'Sagittarive.Capricorn ¥4~ Aquatius == - Places

EZach atgn is 30 degrees long. The 12 signs cever therefore 350 degrsea
or the circle. One degree is divided infoe 50 minutes (') and one
winute into 80 seconds (7).

We note that in the Table of houess theTe 18 only ==g listed
the positions for eix house cuspe (coTners); however, We have twelve
of them. The Teason for it is that the onpagite cuecs have the same
degrees only with the oonosite aign marked next to them, Hers is the
1ist of opoosite signs:

Y Aries agpposite Libra =

o Taurus " Scorpio Pia
I Gemini " Sagittariue <7
& Cancer " Capricorn 43
. Lea " Agquariug ===
7 Virgo " Plsces

AsC, meane Aacendant or the voint that Tises in the EZast at
birth. It ia & very lmportant point. It =zlso is the beginning of
the first houee. The rotmtion of the houses is anti-clockwise.
Flg.#1 will 1lIunetrate this. M.0. means the mid-hesven or the polnt
that‘is just ebove ua at the moment of birth. It is alsgo the cusp
of the 10th house at the same time. This point i8 also very impoita:i.
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In Plg. $#2 I insert the values that have to be pleced at the ausps

of the houges &nd plenee note that the value ooposite the 1Uth housge cubpy

iu the emme only with the oppoaite sign; 80 is5 the velue of the Sih
nouse (opposite the 11th) etc. In our work We are not concerned about
the effect of the houses nor of the signs for which other astrological
texte devote large chapters, nor of the effect of the planeta 1n ailgne
or in houses.

The sid. time of our example is8 5 h 46 m 09 8. The nearest value
to this 15 shown &g bvelng S5 h 46 m 55 B in our Table of Houmes for
43 degrees. Note that for other laiitudes the values shown next to
the sid. tilme would differ materially. . .

Ae have in our csse a difference of O min 488 to adjust so0 as to
errive at the correct second for the ascendant. Tz2is 18 the only
cuep that occagionally needs adjustment. All others you either leave
the way they are shown, else 1f it hannens thet the s8ldereel time
i1g incidently just in the middle of the given sidereal time {auch as
would be the case Lf the asideresl time would have been 5 h 44 m 15 a)
then you would mark the 10th house cusp with 38.30, the 11ith with
1,30, the 12th with 2.30 (2°30') etc. Why we do not heve fo be too
accurste will bte explained later. Do net attempt to figure cueps
with mathematical exacinesg; results will not be hetter,

Az to the adjiuastment of the Asc, we nronertion the values, by
paying: from sid. time 5.42.34 to sid. time 5,48.55 are 4 m 2l B
and from Asc. value of 28.47 Virge tc asc. value of 27.35 Virgo we
have 48 minutes difference.

estion: How far do we have to move the ascendant backward, when
the sid., time i 5 h 46 min.0% s or 48 eeconds lesel

Anewer: 46 seconds is very close 1/€ of 4 min.21 8 (281 seconds};
therefore, sll we have to do 1s go back with the mscendant 1/6 of
the ascendent!s motion which is 2s we can see 48 mirutes. Therefore,
we have to go backwards 8 minutea {(1/8 of 48). Tnis gives us the
exact minute for the Ascendant, i.e. 27,87 Virgo.

411 the other house cusns we leave unchanged and just enter them
at the house cusps, the values veing %taken from ite Tatle of Hdeuaen,
waing the correct sideresl time and the correct degree of Latitude
that belongs to the place of birth.

So as to be sure thet all the above la understood we use a second
exampie, much sharter now than the first one and we nake 1t for
Yew York City, whieh lies 75 degrees West of Greenwich. We shall
use May 17th 18937, 9.20 PK daylight savings time.

Order: ETect the frame of the horoscope far this moment as per
instructions given Above.

3id. Time ¥ay 17th 1837 at noon 3 a3 mOdoa

time ellapsed since noon 9 5 20 m 00 8

{note that Daylight savings tilme is to be adjustied te Standard T}
adjust 10 sec. for esch hour elleppsed

%80 sec. plus 1/3 of 10 sec.)
adjust for 750 West @ 2 s {150 sec) {add)

lm23s

2 m 30 8
12 h 02 m 57 a
The Tsble of houses for New York in the vicinity of 12 hours laoks
ag follows:

3id. Time 10 11 12 Asc. 3 3
Baty == Y = sl ==
12h00mC0s a 28 21 11.07 15 24
12h 3mdOe 1 o 22 11.4&2 16 25
12h 72208 2 1 23 12.37 17 a5

In this case we find that our reguired sidereal time 1ls juet
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about in tbe middle between 12hOmCae and 12h3mdOs; becauvse it 1s
13n2m57&. Thia necessitatea ueing the printed velues in the Table
of Houses for NYC as of 13hUmés and adding 30 minutes to esch wvalue
for the cueps of the houvees; We may even uee 45 minutes to add to
and get better results in our later propoTiion work.

The hscendant has to be flgured correctly though, thus:
difference in sid. time from one column %o the next 18 3 m 40 8.
difference in the rising cusp from one coluan to the next is 45 min.
{11%7' Sag. to 11°53' Sagittarius).

“Our actusl sidereal time i 12h23'57". This value 13 2187 from
gtd. time of 1Zh0'O" at which time 11.7 Sag. would rime.

Thue we make the equation as follows:

Imd0s ¢ 2 m 578 equals 45 min.! x
turning these wvaluee {except the wvalue 45m)} into seconds, we gebi

ap 220 sec., is to 177 eec., @o is 45 m o X.
or: 45 times 177 divided by 220 gives us x, the unknown quantity.

or: T985:230 equals 36. These 33 represent ilbe minutes of motion in
tne velue of the ascendant. This means that we have to add thesze
25 min. to 11987 Sagittariue and obtaln the correct ascendant for
the moment, i.e. 11943' Sagittariue.

To =211 the other velues of the cuans We add 4§ =min., etraight
tiarcugh. The result is 1llustrated in Flgz. 3.

Home work: Srect several horescopes for definite times, Lotk
for Zurope as well ar for places in the r.S.4A,, for times befgre
noon of & day and after noon. 3e sure that you anderetand the proce-
dure pefore proceeding further,

eten #3: the insertion of the planets into ihe map,

We lay the Tables of Homses conmletely aside now and forget
abont them.¥e new look in the ephemeris under date of August 2nd
to August 3rd 1901 in the lower part of the page where you will
find the planets' positione llsted for noon time at Greenwich in
longitude. In the top half we note that declinatione snd latitudes
are also quoted, These we never look 2t. Ignore tles completely.
I have swent plenty of time with them and found out that no results
can pe had from them, at least not with my me thaod.

The only thing ®e use of the upper half of the page las the pe—
aition of the Moon's Node at the far right corner. The Moon's node
is important. Its sbbreviation la:JL .

The planets are marked in the ephemeris with special abbrevi-

ationg as follows:!
Uranuwe i Jupiter

sun & Hoon D Heptune
Pluta L .

YercuTy 3‘:

e have to retain their nemes and their apbrevliation marks.

Saturn 1’2‘

Mars &7 Venus @

The positions of the planets are given in degrees and minutes,
together with the sign they nappen %o Te in at noon af the dey con-
sulted. At times you willl find in the ephemeris a capltal R with
2 line through the lower pert of the K, like the K of & doctor's Pre-
scription. Thie means taat during thet time the planet wilech is marked



that way is retrograde, i.e. moving with the ¢louk, while itg

regular movement is anti-clockwise. It ie moving 50 to Bay back-

wgrds where it cawme from. These retrogrede motlons last frem

three weeks with fast moving planets to 4 months with aleowly

moving planets. The fastést moving planet is the Moon. It moves

from between 11 degrees to 1% degrees each dey. The next faegt

mover le Kercury, tien Venusm, then the Sun, followed by Mare

and lagtly by the slow moving planete, Jupiter, Saturn Uranﬁe

Neptune and Pluto. Sun and Mooun are never moving retroérade. ?

All figures enrown in the e¢viemeris indicete geodeniric peositiona

i.e. as eeen from aur esrth. Do not ottempt To ancly this metnod”

fgﬁ heligcen:rig gos}tions guch pe are primnted in Wsutical Almanace
ave also tested these and found them of 1 C :

of things that do not work. ae vRive. Steer olear

The Zphemeris for 4 ugust 2nd and August 3
follows: (always noon poai%?on 2t Londont} 7d 1908 leoks ee

Sun Ligon ¥ertune Uranus
Aug. 2ndi9 leo 27'; I Places 42'; O Cancer E27'; 13 Sag.3! R
Aug,3rdil0 leo 25';19 Pisces 51'; O Cancer 28¢; 13 Seg.2' R
deturn Jupiter Mars Venua Mercury

Aug.2ndiR 11 Qapr.ll'; 4 Cepr.28'R; 11 Libra 33'; 4Vi30':20Canl0t.
aug.37d 11 Capr.7'R; 4 Caor.23'R} 12 Libra 3': 5Vi431:210an 8v:

_The first thing that vou have %o scquire is to learn to count
with degrees, uinutes aAnd seconds Just as you count with deollars
and cents. Thls takes vatience and time. I believe you seve moTe
time if you maeter thls counting businese first vefore proceeding
inatead of coratantly iimplng, and makins errors.

The greatest diffi ty ta encountered when the planet moves
frem one elgn into another., We ¥now that one sizn 1s 30 degrees
long and 30 degTrees of one sign ie equal to O degree of the next
siegn. However, for ceglcvlation purposes, we may at tlmes express
the walue in & new sign in terme of the old sign. Thus: )

3”15' Aries is egual to 33°13' Pisces znd alao egual to
328975' Plsces. These changes help you mary times o wake deductions
of tie Hoon's motion, fer exerpls, very fast. In the third case I
vorrowed a degree from the 33 degrees and turned that degree into
minutes (B01) so that I would be able to dedyet fast.
A few exsmples: 39 27' Taurue is equel to 3I2°27' Aries or 31987% Ar.

0C0L1! Capricorm is equal to 30901' Sag.or 3G%61¢ 3ag.

Tie gist of this work is that we muei figure out the speed of
the planet each time. Thus we alwaye have to heve tewdays positions
to messvnre with., Cne 2lgne i3 not encugh. Wnatever ie the difference
in degrees and aminutes {rom noon of oneé day to noon of the next day
ie the speed of the planet, This aneed covers 24 hours, because
from noon of one day tc noon of tne next day are simply 24 hours.

If 1% would be a matter of even aours thinge would be nice and easy.

Byt e heve to measure at times to the second exect, It ceanot be well
done withx plain aritimetics. We have to use logarithms for that work.

Ranhael'g ephemeris centein in the vack & Taole of logarithms such
25 must oe used to do the figuring down to the exast minute,

Eefore going into thle work, however, we now find first out
wlat ﬁhe purpaoce of 21l this detalled w2k is.
. “hen we wake # horoscope for a certain moment we want to know
the exact nlanetary nositions 1n the nsaven Tor thst time; the signm,
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the degree eand minute et which the planet 1s located at that moment
and the house it 1ls posited.

To obtain this, the flrst thing to do is to figure ocut what 1a
the time at Greenwich when the event heppens. Because all pleneta!
posltions are figured for Greenwich and not for the place an event
or a birth occurs, unless it happens to be Jjust at Greenwich (London).
Almenzcs tell us that the time difference between London and New
York ie 5 bours, between London and Chleago it is €& hours, tetween
London end Mountain Time 1t is 7 hours; between Londeon and Pacifie
Time it is 8 aoure, between London and central Germany 1t one hour
less; vetmeen London and Holland i+t tg 30 minutes less. ’

Thus when it i1a 8 AM in New York, 1t ie 1 PY in London, when.
it is 7 PM in San Francisco, it 1e 3 AM the following day in London.
When it te B olclock 1' 37" in London, then 1t is 9 o'clock 1'37"
Standard time in any part of Germsny or Italy. Wnen it ie 9,20 PH
deyllght savings time in New York which eguale 8.20 PM standard time
{Eagtern), then it is 1.20 A¥ in London ete.

Yome work: this time affair should be practiced for all kinds
of times of the day, especially for minutes, merning, noon and
svening tiames; many a horoscope is madie wrong by figuring the
proportdmate London time ®rong.

Lew: we always have to turn the time of the event wherever it
occurred into London tilme {Greenwich mean time). Therefore, the
evsnt thet cccurred in our example at 9.1.37 A¥ on Augeat Jrd 1901
15% Easgt of Greenwich actually foTr our Durnose occurred at 3.1.37
A August 3rd at London (meaning London time},The Mew York svent
on May 17th 1937 at 9.20 PM Eastern daylight savings time cccurred
actually on Mey 18th 1937 at 1.20 AM in Greenwich time.

This muset be understood and practiced, otherwise you walk
irnto deep water..,

Having once established the event in CGreenwich time, 1t 1is
very easy to figure out the planets' positions for ihet time, bes
csuse the planeis' positions ere given for Greenwich at noon.,

All we nave tc dg now ls to figure cut how many bours and
minutes we are away from noon. Taking our two exemples, we find
that the Aug., 3rd 1901 event occurred at 8 oclock 1lmid7s A, London.,

Noon We now ¢all: 11 ofclock 5% min. 50 eeconds

we deduct g o'clogk 1 min, 37 seconds

lesaves 3 hours S8 min, 323 seconds.

The Kay 17th 1937 event occurred at 1.20 AKX London.
Noun ws call 1l oteclock &0 min.
we deduct 1 hour 20 min.
leaves 13 nours 40 wmin.

The first event occurred 3 h 53 m 23 s before noon London;
the second event occurred 10 h 40 m before ncon London.

Thig leaves the only gquestion now open! How fast did the warious
plenets travel during these periods? When we know that we asimply
deduct that motion fTom the noon posltilone s given in the ephemeris
on that day #hev we heve the exact minute position of the planeta

at tne place of birta of the event, These are then entered into

the charst.

We take recourse %o tke Logarithm Tablee in ihe back of the
amnhemeris for the fast mowing planes, For the slow ones We can
figured that in cur mind., This "mind figuring" is esay thus:
3R BB m 23 s 1s about 1/6 of one day {or of 24 hours). Thus in
tae Tirst example we seTely deduct from ine noofl pof}flcﬂs P ;ggion
srd (Aug.Cl) 1/6 of the entire day's motion {tue entire day's



hae to De measured for each planet). 8

Therefore in our example for Aug. 3rd 15901 we find that the
gun trayelled from noon Avg.2nd t1l1 noon Auguat 3rd (at Greenwich)
from ¢ Leo 37' til 10 leo 25*' or S8'. All we do is figure'mentally
1/ of that motion which amounts to & little iess than 10', We ume
10' and deduct this amount from the ncen position of Auguat 3rd,

We neve to daduct because the event occurred before noon.

In cage the birth occurred after noonm, 1.e. between noon and
12 hours later {midnight), we would add the calculated number of
degrees and alnutes to the ncon position. When calculating planets
positions we never use the time of the place of birth, but the tinme
of birth expressed in Greenwich time as shown mbove., Thus we forget
all about the moment of birth end Just make beélleve the peTson wasg
borndin Greenwich, This is very important and must be clearly under—
stond.

Therefore, coming back te our Sun in the Aug, 3rd exsmple, we
note from the ephemeTia that the Greenwidh noon position was 6n the
3rd 10. Leo 25. The Sun's motion from 8.1 AN 411 thst noon amounted
to 10 minutes as we figured. Thue, before the Sun reacked ihe printed
figure in the ephemerls she hag an extra ten minutes (in are) to go
forwmard. Therefore the print shows ten minutes toc much for our pur—
pose and this we have to deduct: 10 Les 25' less 10' equels 10 Leo 15

This 18 the exact voeltion of the Sun that wust be entered in the
chart.

To the average ptudsnt thie work seems to be Tather complicated
and obtelned 1in 2 round-about way. It has to bte done and aa far as
I know thia la the shortest way to get It. That we actually are trylng
for is tc find the location of each nlanet in the reaven ai the moment
of wirth as se¢n at the plsace of birth. The Sun as we found wae at
tie moment of bilrth as seen from 15%ast of Creenwich and at a Latltude
of 48%NWorth exactly in the slgn of Les on the 10th degree nlus L5 min.

The next pienet to lécate 1s the Koon. We note that 1t travgls
from noan Aug.Z2nd til noon Ang.3rd seen from Greenwich from 5 Pi 4§t
to 19 P4 31" or 14°2'. Tha dirth in Greenwlch time occurred at & aleclack
1137% AM, or 3 hours 58'23% before ncon of the 3Ird.

Question: How many degrees and minutes did the Moon travel in
thgse 3 houre S&'23"7T when its speed in cone day or 24 hours was
14¥3' 7 This cannct be figured mentally. We use for tals calculstion
logarithme as mentioniped above. There is nothing complicated apout
the use of these logarithma. {Lock up Ravheel's Ephemerie, last page).
On the top We find numbers running from 9, 1, 2, 3, up to 1S.

These represent hours or degrees as you may need them. The speed of
the moon is in our example 14 degrees 2 min, In that case we call
these numbers degrees. The time of birth having ccourred 3 houra

S8' before noon, we use these same numbers for it end call them hours.
On each side of the Table we find the minutes (belonging to ihe top
Tow of hours ar degrees}. Therefore eazch degree and minute from O to
13 degTees or each hour and alnute from O to 16 has its o%n propoTt-
icnal legarithm printed in the Table. o

The Tule 1g: to find the motion of & planet in a certain given
time (in our casee 3 hours 53') provided the apeed in 24 nours (1 day)
1s known {we know 1t is 14°2' by memsuring it fTom the ephemeris}, Wwe
add together the logerithms for the given values. The result obtailned
15 the logarithm of the motion. Frem this logarithm we read off our
v8lue in degrees and minuvtes, & praciles] apnillicatlon expleing 1t:

log 3 hours 53' 1s 7818

log 14 degrees 2 min.ia 2330,

adding these two values together we get: 1,0143(log.)

Wihen we now look into the log Table we find 1,0153 ae the nearest
value listed that belongs to a full degree and ainute, i.e. 29197,
We mey 8lso ¢ell thie valve 2 howra 19 min., but we only deal in
degrees 2t this moment and not in hours.

The ansgwer 1ls therefore: The lfoon travels 2 degrees 19 minutes
from 8,01 AKX $il1 noon on August 3rd 1901. Becauee the noon posltien
is shown in the evhemerls, we simply deduct the 2°1l8' from the ncon
position shown in the ephemeris of Aug,3rd as 1% Pi 51' and obtain
18 Pi 32' as actually the position at wirth of ikhe native.

¥hen we remembeTr that 3 hours 58' ls wery close to 4 hours or
1/6 of a day, we alao know that any nlenet whichever it la has to
move forward or backward at lemet & minutes during the day {in 34
hours) sc 2s 3o bring about a variation of 1 minute in 4 hours,
so that any planet thet moves less (in our example only, of course,)
than & minutes per day, dees not have o béchanged at all, but aiwply
its printed position in the evhemeris copied and entered into the
chart.

In our example we note that Wentune moves in 24 hoursz only
one minute; Uranus also one minute; Saturn moves 4 minutes; Jupiter
moves 5 minutea backwerd. None of these needs tc be changed or ad-
jueted. ¥e copy the value as of August 2Ird 1201 at ncon.

Tais glves us the following mositions:

Yeptune C On 28%; Uranus 13 Sag 3' R;

Jupiter 4 Ca 23°' .

Usually we put R behrind the degrees and minutes 1if a planet
hanvens to be retrograde. When 2 planet is direct, i.e. moving for-
ward, we do nct gtste mo, because 1t ls underateod. In the ephemerisz
however, when a planet turns fronm retrograrde position into direct
cosition, this is defined by a capital D. The moment the planets
becomee dlrect or Tetrograde 1s called the stationary position.

Kake 1t a habit to put »l%ays the sign behind the walue for
each planet so #s to save troubles. The writing intc the chart should
ce done with a fine pén. The left nalf of the chart i.e. from the
%.0. {kid-heaven) down to the noint onposite the K.C., called the
Nadir (in Fig.#2 this pelnt would be 27 Sagittarius) is entered
oy writing the planets values lefiward; the rTight half of the ochart
ig entered righitward. Locking over the c¢harts will guickly show you
what I mean by {hat.

The next planei to locAte is Mars. It moves from 11 Li 33! to
12 Li 8% or 38'. Golng 1/6 of 3 day's motlon ocackward so 2s to reach
8 AM, we divide mentally 36:8 egualling 6', Thus to place Kars cor-
rectly into the chart we aimnly deduct from the noun Lomdon positicn
of ¥arr {12 Li 2'} 8 minutes. This meens that Hars at the woment of
birth was at 1293' in the sign of Libra. There we enter it.

Supnposing the birth would have been st 4 FM London time which
also would nave heen 1/6 of a day, but after noon, we would add the
& minvtes found to the noon poesition as shown in the ephemerls.

VYenus movea in cur exswple from 4 Vi 30' %o 5 Vi 43! gr 10131,
We figuTe the motion foT 4 houTs mentally by turning the 1°13' Into
minutes: eguals 73 minutes; divide by & 1e 13'. Thue we deduct 12
minutes from the nTinted noon position of Venua of Aug.3drd 1901 and
have the birth position of Venus, 5 Vi 43 less 12 equals 5 Vi 311,
This is entered in the chart.

Kercury mowves from 30 Cn 10°

Saturn 11 8& 7' R;

to 21 Cn B8' between Aug.2nd and S5rd,
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The difference 1s B58'; we remember that the 3un moved at the sanme
speed end we Just uwee the some value, 1.,e, 10' snd deduct it frow
the noon poeitlon of kug.Srd, tecange the event occurred before
noon. This gives us the exact lMercury poesition at birth as 30 Cn S8¢v.

We wmust not forget the Moon's Node wiiich moves on an average
of 3 winutes per retroprade. It never moves forward. Ite vosition
on Aug.Jdrd is showa Ae 18. Scoprie 28F, No adjustment nesded so we
glmply enter the noon poeition of London into our chart.

Thia 1g all that is fto be known about figuring the plancts.

Yain rule: when & horoscope is to ve made for a birth before
noan London {efter adijusting the local birth time to London Time)
we deduct the movement the planet has to make until 1t reaches noocn
time'e posltion. when the birth occurs after noon {birth time ad-
;usted in London Time) we add the motion the planet has made aince
it passed the noon position ®woich is nrinted 1n the ephameris,

Second rule: Use logaritihms when planets move rapidly such as
we elways have to do with the Moon, All other planets figure mentally

Home work: s&veral ceses of your own cholce sioguld be worked
cut completely here go thet your can do thia forward and backward.
Please do not proceéed unless you are aure of how to do this,

step #3a! the actual placirg of the planets in the chart,

In Fig.#4 I suall now vlace the planets as we found them tircugh
czlculations aveve for the horoscove of natlve beorn Aug.3rd 1801,

¥e have seen that the rotetion of the signs L8 alwaye the sawme,
going from Aries via Tamrus, Geminl, Cencer, Lgo, Virgo, nivra,
£corpla, Begittarius, Cavricorn, Aguarius and Pisces.

Due to the fact that we have tc erect a horoscope et the place
of Birth and not at the EZguator, therefore lorth or South of it &
definite numher of degrees and minutes, called latitude of the place,
tae length of one house compered to the other varies., If we would
have a ovirth on the Equsator, each house would be 30 degrees long.
The further we pre awey with ithe btirth from the Eguator of our earth
the bigger the discrepancy as ito the size of the varioue houses,
In that sometimes a house is only 18 degreeg long and ancther may
be 37 degrees long, we shall find that once in a ¥hile a wuole Bign
of 30 degrees is golng %o fall or disapoear completely in one house
and on the cusp of such house we have say Taurua on one side and
Cancer on the other. We meeringly miss Gemini all together, This
meana nothing. ¥e kmow it is there, even though not indlcated on the
cuspe of the house,

Such a eeeming lose we shall not find with the methods azc we

shall employ. However, in order to not complicate matters toofast
¥e pegln to usé the common, ordinary chart and this is the reascn
for the above exnlanation. I do not want any student to hunt for
2 sign, thinking that 1t was lost.
tn'Fig.#2 we find that She cusp of the 10th bouse ism 27 Gemind
and the cuep of the 11th is 2 Leo, There leg tle sign of Cancer hidden
vetween. The sgsign'e length is: 3 degrees of Gemini, 30 degrees of
Gencer and 2 degrees of Leo, A1l told 35 degrees. Un the orrposite
eide, i.e., the 4th houee whick begins at 27 Sagitterlus erd ends 2t
2 hquarins, we have the sign of Cawnricorn hidden. The length of that
house 1s siso 35 degrees. Note: opposite housee are of the szme
length,
& In Fig.#3 we bave a sign hidden vetween She gth, IGSFECtin;Y
the 3rd mowvse. The 9th contalne Tirge, the 3rd,Pisees.o TFe lengii
of these houses are: from 24°45 Leo to 30 Lec equals 59157, This

iy
30 Leo is, as we know,equal to O Virgo, Thus,we have 30 degrses in
Virgo and 09451 in Libra, Adding these value together we get
36900' as tie length of the house,
0The 10th house of Fig, #3 ia oply 2990 long. The 1llth house ig
22°00' long; the 12th house is 19958! long; the first hLouse is
3492' long and the second house is 39900' long.
Theee values as we found them here are entered on the outside
of the chart for a purpose which will be explsined later, Be very
careful that yov measgure the distances right for each house. You
cnly measure one eide of the chart, because the same values wmust be
used for the opposltie houses. In Fig. #5 I have made 2 copy of Fig.23
but inserted the size of the howees =2s mentloned. Do not place thém
somewhetre else; we need 21l the space availavle for other details.

In the small charts, which we shall call single charts (PFig.
#£2, #3 and #4 are single charts ageinst so—called double charts
gontalning radix chart and progressed chart aad azsinet the five-fold
ehafts wihlch we shall treet later on as our main subject.

The awall chart or single chart 1s as a rule a Tadix chart,
This means. the chart or horescope for the moment of birth contalning
the visiple positions of the planete and the houses as determined
apove, I call them visible vecanse later on We shall find planetary
positions which exiet but which are invieibdle, it only seems that
planets are at these spots [echo-Teflex-mirror effect).

As we have seen some of the signs are nidder in 2 aguse. To
make them avpear ([so that they are not overlooked), we mark on the
gutside the miseing sign. Thila is merely for the purpose of tdenti-
fication fer veginners. The experienced astrolegere, of which I hope
you become one gradvally, knowe that between Genxinl and Leo there is
Cencer hidden.

Do not fail +o put the sign next to your value of the plenet in

ne chart, Tiis witll prove to be 2 definite help later on when zeas—
vring distances. (see Flg. #4) :

Kindly note that the old Aaphael's ephemeris do not give you
the position of Plute due ta its revent discovery. There. is a small
booklet out which gives Pluto's positions for 100 years every 30 daye.
This sihould be consulted for its position. In our Aug, exawpleé 1301
Plute was then at 138.13 Gemini, moving direct.

This ies 2ll we have to know tg erect a ovirth chart, provided
the tiae of birtih is knoWwn. In case We do not know the time, we make
the chert for O degree Arles on the ascendent; this brirgs on fhe
cusp of the seoccnd heuse O Taurus, on tue cuep of the thirdhovre O Ge.

In a later part we shell find how to go abcut to recsify the
same and detect the moment of the birth.

The planets in that case cannct ve adjusted neither ae we did
in quT expanie of Aug,3rd 1901, We simnly teke tae noon moeition of
London of that day in oguestlon and enter them temmorarily. Supposing
we would not know the definite minute of virdh in osur example of
Aug.37d 1801 our temporary, tentattve chart would lock like fig . $5a

Berfare proceeding further, dear student, by all meens master

thie first lesgch. #hat follcows becomes much maTé cownilicated and

difficult so that you are liable to giwe uD.
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Lesson II R P
The caleulation of the mundane chert ¢

After I studled wook astrology for 2 while placing special
attention to filnancilal mastrclogy, I socn found out that even though
I nave a lot of aspects in a radix and progressed chart that bring
rocut changes in the market or when etudying & personsl horoscope,
these twn charte bring forth plenty of evente for the persgom, I
+ried to find edditional pointe wherecy changed "of trend® could
be digscovered. In a German text I found mention of sensitlive voints.
I tested them, but they proved n.g. when one day it damned on me
that the lew of "fata morgsna® way be helpful, I studled up on my
physiecs, perticitlarly optilce, the law of *echoes", of reflex actions
etc. All these ideng have teen used to make up the next t iree charts
+hat follow here presently. They are produced solely froi the radix
chert of apenk of the blrth moment. The murdlane chart, the first
one we shell produce,ls made the fellowing way!

Step #1: Divide your twelve houses into 3 egual parts each.

In Flg. #5 we have entered on the owtside the length of each house
already. These yalues we now divide by 3 eech. Therefore, the 10th
house, veing 2970' long has three parts of ©°4@! sach, because

3 timeslg.48 equals 29 degrees. The 11th house is 22 degreea long;
each third part or %decan” ls therefore 7930' long. The "12th hguee
ig 19°58' long and therefore each one third part or decan i 639!
long. The first house extends 3492'; thus one decan eguals 11931,
The second house ig 39 degrees 1flength and one decan 1a 13°0' long.
The third house 1s 38 degreea long snd one decan ig 12 degreess long.

The cther houses are of the same length se the one lyling oppoaite
and so are the respective decans.

In Fig.§ we 1lluetrate this.

I speak here about decans. Decan actually means 10. In 2 chart
that ie made on the Zgquator or in a chart that is made for O ATies
each house is 30 degrees long, of the szme length s B2 sign. One

thiTd of such a2 house is actually 10 degrees lang and thus deserves -
11p10y

the regular name of "decan", What we call a decan is sometiing sia
in effect, i.e. Lt ie a three part division of & house; but_our
nouseg mre of different length and thue our decans vary 1n lengib.
A natural decan pnas 10 degrees. We need this value presently.

Let ue for the sake of distinction call our decens which we Just
analyeed ¥rTadix decane" and the others natural decans.

Under "mundane” we understsnd something that Degina with O Aries.
A mundane horoscope begins with O Aries onm the Ascendant, each house
veing 30 degrees long, cach decan (3 to a nouse) 19 degrees. Fig.#7.
Some astTology bocks tesch you about so-celled mundane horescoves ut
they actually aTre not mundane horoscopes =8 you shall sood find out.
In & mundane horoscope We have to. propoTrilon the radix values into
the housea, Far example, in our sample horoscove, we find Venus
raedical et 5.31 Virgo. Therefore by mundane poeitlon this Venus be-
longs intc the &th houwee, because Virgo 1s 8 signe awa{ from Aries.
Hars by radix position 1s in Libra In the first house {radix hoTrns-
cope). Libre, however, is & signs away from Aries and therefore Hars
by mundane position belongs into the 7th housge, {Fig. #8

The only guestion that remains now 1s: where do you place it io
that hougel We ocannot place for exaaple iars which by radlx position
15 at 132.3 Libra into the 7th house of the chart, that is extending
from 27,27 Pleces to 22 Ariea any old way. We must propodtlon the
distance from either the cusp 9T from a decan.

The procedure is as follows: .

A natural decan begins at 0 degree or 2t 10 degTees or at 20 degree
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and enda 10 degrees further away. Tow, in ocur example &he radix
Yepue 168 8t 5.31 Virgo. This mem=ng 1t 1is 5,31 away fTom the natursl
decan that extends from 0 Virge to 10 Virgo.

Gur radlx ¥are is at 13.3 Libra. This meens it is 293 awsy from
the natyrel decan that begins at 10 Libra and ends 8t & Libra.

Cur radix Hercury le et 20.58 Cancer. Thils meane it is OY¥58¢%
from the natural decan that extends from 20 Cancer to 30 Cancer (the
latter is equel to O Len).

The radlx ascendant is st 27.27 Virgoe. Thus 1t is 7927! away from
the decsn that begins st 20 Virge and extends to 30 Virgo (the laiter
being equal to © Libral.

In as much a2s we have divided all our houses into threeegual parts,
we have to try to proportion these values into the parts we created
for that purpose.

ders is the egquatlen %o obtaln the walues:

As the elze of a natural decan is to the size of a radix decan::

so is the ﬁistance 8 planet is away from a natural decen cuen to X.
X is the unknown guantity. In numters the eqgustion look 1like this:
fUsing Venus radix to put into mundane position)

109 = 59311 .
EREl x

10. degrees i3 the size of the natural decsan; 831 1s the size of
tne tadix decsn Wherein it hae to go, i.e. 1/3 of the 8th house Fhich
tegins st 3 Plsces and ends at 27.27 Pleces. 5.01 is the distance
Yenus ie away fromw a decsn cugp (in this case the lower decan cuap
ig O Virge and from O Virge to 5.031 Virgo are 50%11). X ia the value
we need. After we Find 1t we add this walue to the first cusp of the
5th house {to 3 Plsces). We use the first cusp tecause in the radix
position gver in the 12th house Venus Was weasured from the first
cuap slsol from O Virge).

To coumplete the eguatlion above we proceed to solve Lt by esaying:

10 degrees equal 600 minutes; 8°%9' egual 488 minutes; 59311 egual
331lmlnutes and substitute these values for thae others, thus:

600 = 331 _ ; by ewitelhing x to the left and the other wvalues to
FEE] x

the right we get: x = 331 ¥imes 482 divided by 600,

This formula mist oe strictly followed with each planet and substliufse
or siort cuts shouid not ve attempted.

This gilves us: 331 x 439 = 151358,

151859 : 500 = 289.

Because we have turned everything lnto minutes, this last figure also
represents minutes. No®w we turn thig walve back into degrees by dividing
it oy 80. Thls glves ug: 4929'.

This velue recresents the distance of Venus mundane fyem the
cusp of tae €th bouse (3 Pisces). Addlng this value to 3 Pisces we
obtain 7°29' Pisces es the final value and there we enter the planet
g8 helng ite mundane pasition. (Fig.#al

The same way we do with all the other planets, including the
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the Agcendsnt and slsoc the Lid-heaven and the Tode. t
It i1s not in the realm to make all the planets for you oy mundane
posltion elae there would be nothing %t dn for you. I shall make
two waTe poeltione o delp you. The others are meTely figured and
entered correctly so that you may work them yoursels and comEnare the
final figurs to see whether you 4id 1t right. Patlence and csre i
necesaary. To make one complete BE~Told hoToscape tekes me about 2
days solld work. If 1% takes you 5 daye to start with you are doing
ag good &f con te expeoted. After a while thinge should go faster,
Zxample #3. We take the Ascendant, which we find e% 3%7.37 Virgo.
By mandare poeltlon 1% has to fall into the 8th house, ergo 'vetween
3 Piscee and 27.27 Pisceg, Because 27,87 Virge 3s in the tuird decan
{tuz third decan extands frea 20 ¢ 30 Virgo), 1t wust fall by wundans
position alse in the third decan, wiich extends from 15°18' Pleces
tp 27927 Pisces. This we always have to define firet cefore we do tae
figuring. The length of the decan it has to cowe into ie 899Y,

Propeortion: 103 8.9 = 7.37) x; iurned into minutes we get:
800 1 488 = 447: x;
x = 447 times 488 divided by 800;
x = 218563 : 600; '
X = 3843. This walue represents minutes,

Turriang them into degrees, we get: JI5843: 80 equala 693 minutee.
Therefore the mundans Asgendant ls &°23! away froem the third decen
of Virge smndene. Tae third decan of Virgo mundene begins at 1g91is!
Pisces redix. When adding both values we get 26901' Plsces and its
zundane posltion and we enter 1t there in thes ring svecially vprepared
for mundene poeiticns (zerked at the Aacendant with "M%},

The final big chart contains on the ineide {figured each time)
the sige of each zundene decan hovee. This does awey with o lot of
extra work. Zaca house must bte figured simgly ené none xigsed. Some
af tae values you =2y not nsed vecause no plarnet happens to fall in
certain houses In individual horoscopes, but that is of lititie import—
ence. We also mark on the inside the Zoadiac as Lt has to ve for mun-
dere positlons, sc tiat 4 mere look at the map tells ¥ou Where a cer—
tairn radicel planet telongs ©y mundane position. All these things are
dan=s tc prevent e€rrors. You will scon find »ut that when you make one
eérror it gerries Tight through the entire map, bLecause one thing 1s
built ubon the other.I carnof emphasize ¢ncugh to go over each calcu-—
lation twice or even three times to see whetier it is correct, I my-
6elf have been making certain horgscopes twice Irom veginning to end
due to a slight error In the early part of tie work which cannot be
rectified any other way btut by making a brand new chart. When dividing
the houses into 3 parts te careful to hLeve youT cieps correct, In case
a mirute is left over in that divisicn wmake cne decan a minute ehorter.

ingles of planeta cast towards the ascendant are especislly
strong. In case the Ascendant is incorrtect or only corredt to witkin
oae JegTee, a1l the other Ascendants, the mundane ascendants and the
iwo other wolch we shall bring forthwith are alsg wrong by the proport=-
lonate emount, The detes of the events must vecome wrong too and a
lot of trouvles ensue,

IREEREENERRERRNERNT
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Please teke notice thet at the pleces where we put the mundane
planets there are ectuslly no nlanets located shexe, Thus the
irritationas that are vroduced =t thege spets are reflex effecta
originating from the radix birth planets. The actions are the saxze
as 1f we had plenets at these places and thie 1s sufficient for out
woark,

Home work: Make meveral mundane charts complete beiore going
further ints the subject. Lesson turee deals witih entirely different
phenomena and have no cynnection with taese csloulations whatever.

Lesmon III
The radix mirrored Chart { RM)

Fig, # 9 @ghowsg the procedure we use., I heve digcovered that
wien & planet ie placed somewhere in tue heaven then it will reflect
¢r mirror in some other definite vart of the heaven. This ls dependent
uron the distaace the planet 1g away frowm 0 degree Arieg. The reflex
is always complementary to 30 degrees. Far exa=mple a plaret by radix
position situated at 49350' Aries Téflects at 25%10' in the sign of
Virgo, veczuse 4.50 plus 25.10 egqual 30. A planet at 14.38 Cancer
reflecte at 15.01 Gemini, because 14,58 plus 15.01 equal 30 degrees.
The reflectiona occur as follows!:

the aign ©of Aries reflects 1n Virgo
Taurus Lec
Gemini Cancer
Cancer Gemini
Leo Taurus (Fig.10)
Virgao Aries
Livra Pisces
Scorplo Aguariue
Segittiariue Capricorn
Canricorn Jegittarius
Aguarius 3corpio
Pigeesn Libra

but always complemenatery to 30.

Thus 1 degree reflects in 329 degresas
% degrees 28 "
3 " 27 it
4 " 28 "
& minutes reflect in 55 mimutes
l 0 " " 1] 50 1l
FlOR . o407 etec.

You may make yourself a compleie Tavle of reflecticns 1f desired.
When you get a little used to the work you do Lt completely mentally,
To take a few examples of our harsscope Fig.#2, we have the dollow-

ing reflex positione of the radix chart:

Sun radix 10.15 Leo reflects by redix mirrored position in
19.45 Taurus; Ascendant radix of 27.37 Virgo reflects by radixz mirrez-
ed position at 2.33 Aries, Mars redix at 12.3 Libra reflects nt
17.57 Places by radix mirrored peeitien, ete.

Figure out all the sther mirrored positions and see if they are



done Tight {without locking at them firat where they are placed).

Lesaon IV
The mundene mirrored chart

This chart 1s of equal importance as &ll others, It gives the
reflex posltions of the mundane chart whlceh we have flgured out
pefore. e use the same rulee ms with the radlx mirrored chart,
only instead of using the redix positionse we #ake the mundane po-
gitione of the planets. The reflections fall in the same signe ar
ghowr and they aTe also cowplementary to 30. HNo difference at all
#¢xists in the work. But we obtain 13 additional positions of planeta.
These positions act or react ae 1f radix planets would ve at their
places. Thus do not belittle mirrored positione.

Leeson ¥
The pregreesed chaTt

The natel or radix chart givee us the examct positione of the
plznets 25 exleting at the moment of Virth. The mundene chart,
the radix-zirreored and the wundane mirrored are all preoduced from
the radix chert. This ie why the grestest care mist be excercised
to bave it correct. The progressed chart hsa nothing in couwon with
all the ghove mentioned charts. The preduckion of a progressed
cpazt ig comparitively easy. It muet be madse ezch year for the birth
day and for the exect minute of that birth day ®hzen one was born,
Thus in our example thue vprogressed chart Tor August. 3rd 1901 at
5.01.37 &4 & locmel tiwe 48 NG, 15 East is therefore made each year
1937, 1333, 1839 etc for Auguet 3rd, F,01,37 AM. However, we alwaye
turn this time over into Creenwicih as shown oteiore.

in tkhe chapter where I treated the tlme adjustment dye to births
occurring 2t other places than Greenwich I missed explaining the
following: Eastern Standard Time is 5 hours from Greenwich and osased
upon the 75th Meridian West of CGreenwich; Central Time is bhased upon
the S0th degree West of Gr., kountain Time upon tke 1G5th degree and
Pacific Time unon the 120th degree West of Greenwich, Ag we can ecece
each degree Weet of Gr., cnauvees a variation in tiwme of 4 minutes, to
te adjusted. Wow, in that the rough adjustmernt for all placee in the
Zastern States 1e 5 hours (london noon equals 7 Al Fastern Standard
Time, or noon New York equals 5 P¥ London) iz based upon the 75th
ieridian, we have to losk up carefully where and at which degree
West or Last of Greenwici ouT place of birth is located. Suprosing
1t 1g located on the 79th Nerildlan., ¥e then would use the 75th and
adjust the 4 extre degrees 2%t the Tate of 4 wminutes per depres, i.o.
the time difference would be instead of 3 houre acivally 5 hours
2nd 16 minutes. Assuming someone was born at 9.14 PK on a certain
day on the 32th Meridian West. This would mean roughly & hours away
from Leondon. However, to be correct, we say: B3 degTrees times 4 min,
equal 3B3 mlnutes or 5 hours 52 minutes from London. Therefore,
to get the correspondine London Time far whieh the horoscope is to
mede, we add these S h 53 min. to the 9 h 14 win and obtain 15 L & win.
after "ngon’of the day of birth or 23 h & min, AX of the next day in
London. And it is upon that time the norocacone is erected,
Tais is irportant and should be practised on exomples.
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In order to make & progreseed chert we use one day of the ephemeris
as egualling one year of the persen's 1ife. Tests With other methoda
peve gone sour. They may be alright to plaey with but not when one
tries to get results.

WF do not uee transits in our work and we do nst use any orbs.

Therefore when we make a progressed chart for the native vorn
Avg. 3rd 1801 sey for 1928, we figure how many days have actually
passed from Auguet 3rd on ard call hugrist 3rd 1801: zero. August
4th would be one year, 5th would ve two yeare, 15th would be 12
years or 15813, 20th of August would ke 17 years or 1318; 30ta
of Avg. 1201 would be 27 years oFf 1928. This ig the day we have to
use 30 erect a progressed hoToscove for that native. Ve proceed the
eaue way £s Wwe did when we erected the radix chart. we know the
netive wes born at 8.01 AN London time or 3 hours 59' before noon.
Therefore, we consult our sphemerls for August 3Jth 1201, go back
with each planet 3 hours 59' in its motlon and &5tain the actual
i;e;:io?a f;rizh:hprogressed birth day, August I0tkh 1801 at 9.01

olg leecal bir time and le 18 I L2 1
3rd of thet yors vesa" th 1s glving the posttions for August

To give an example, we Ffigure the MHoon far that day and mowent,
The regult will bHe the actval progressed position of the Moon for
gugust 3rd 1928., or for the day the native was 27 yeara old to the
ay.

Hoon noon Greenwich August 30th 1901 15 Riaces 6!,
koon's motion from Aug, 29th noon to Aug. 30th noon 1801

14°18",
log 14918 ® 2253
log 3 b 59" = %300
log 70058 = 19557, {all thia ts obtain from the

leg., Tables on the last page
- of Raphael's ephemeris
.ne;efore, we hawve to dedugt 1.55 from the naen pogition at
Greenwlol a8 glven in the evhemeris of Aug.30th 1501,
15 Fisces 0B

less i degree 557
1z degressllminutes Pisces is the actual progresged

peeltion of the Moon when the native lg 27 years O days old.

Wote: I have uged the log of 3 nours 53' thia time, against the
original log of 3 h 58'. Bither cone =may be used, because the value
9 h ©1' 37" falls between 0Ol apnd ol'.

For very fine work we may intervolate this velue =znd take the
proportionate average advance in the logarithm that would amount to
the 37* in guestion. However, for practical work I do not do thais.

On-the date the native becomes 3§ years old we aeve to use
the planetary positions aa of September 8th 1901 properly adjusted,
Thig does occur on August Ird 1537. We now shall figure the complete
planetary positions for that day for the moment ¢f birth, 8.01 AK
London adjustment.

3 b 5%' L8 again 1/8 of a day of 24 hours.

S3un Moon Neot. Urznue daturn Jupiter
Sept.7th 14 V1 8' 9 cn 01" 1 Cn 17 12 Sa 59 9 Ca 48R 3 Jda 19
Sept. Btn 15 Vi 7% 22cn32' 1 Cn 13 13 82 00 2 Ca 49R 3 Ga 20
Yars Venug Lgrgury Node Agg,** K. C.**
Sept. Tth 4 8¢ 27 18 Li 3 23 Vi 33 18 8c 37 &E5L1 25 2 Leo
fEDt. 8th 5 8 7 19 Li 15 235 Vi 18 16 3¢ 34 26 Li 10 3 Leo
' How the progressed ascendant was obtained alss the LC will be
shown later. :



13
Flguring the individual planeta we sroceed ea followse:!

¥otion of Sun from 9/7 to €78 is 2B', We may do it mentally by
taking 1/6 of this motlon, i.e. 10' and deduct this value from
the noon positicn of Sept. 9th, which gives us then 14%57' Virgo.
¥e do 1t malege with logarithma:

log B9 minutes 1,3975
log 3 hours 39 min, 7500
{add always} Z,157¢5.

pearest fall minute shows 1in the Table 10 minutes. Becauge the event
is vefore noon we deduct; if i1t would have teen after 12 noon, we
would add this value to the noon position of ithat day.

The answer is: the Sun's poeltion of the return of the Dirth
day in the vear 1937 1s 14 Virge 57'. )

Moon: Lotion in toe 24 hours in question (2/7 %o 2/2) is
13 degreea 3I1', Log 13.31 = 2493

Log 3n69! =_ 7300 a
(alﬂays add) T,0223 ar 3¥1s5t .

22 on 32' less 29151 1g 209177 Gancer. This is %the loon's position
on August 3rd 1537 for the native's progressed hoTroscope.

Neptune ls just taken as shown in the ephemerls because lta
mgtion ie just one single minmute and no adjuetment can ke mede for that.

¥eptune progresszed: ! Cancer 187

The sare ia true with Uranus, Saturm ans Juplter which are
just tesken from tke enhemerisg.

Kars: Zotien per day {(i.e. from 2/7 to 2/8) 40 minutea.
1/8 18 7'. 5 Scorplo 7' less 7' leaves the poeltion for the moment
of progressed oirth for the native as 5 Scornlo o',

Let s do the same flguring wilih Iogarlthas:

log 40 min. 1,5583

log 3 u 32! 7800

Z,3868% this log egquals 7',

Yenus: moves ithat dey 1913 or 72 minutes; 1/6 of this ia
121. This vslus we deduct from the noen position of Sept. d8th 1201
as shown 1n the eghemeris and get: 19 L1 3'; thia is then ithe exact
srogTessed position Tfor the natives horoscope.
’ Hercury: moves from 23 Vi 33' to 25 Vi 18' or we say!

24 Vi 73! (vorTowing one degree from the 25)
legs_ 33 Vi 33! .
§7OU 45T =2s motlon for that day. This is equal fo 108°
1/6 of that 1s 18!, This value we deduct from the Greeawich noan
position of 3ept. 2th 1901 and have then the progresszed poeition of
Kercury. Thia is 25 V1 G!. We can do the same thing with loge.
The node ts as found in the ephemeris 18 Scorplo 34. .
Now as to the orogressed ascendant and K.C, {13 hagven) whici
we must not forget to figure, we sicply take the Table cof houses
for the place of birth (the latitude) and call the sidereal time
column for the moment of olrth cur O polnt. Each subseguent column
represente one year in the life of the native. ¥e then count up in
our exaqple 36 columns {i.e. 36 years) and read off the pregresced
Ascendant and the progreszed Wld-heaven. As to adjmstments for tice
{for 8.01 AK instead of noon Greenwich) we do not have to bother
becauge thia birth xoment was figured correctly in sidereal time
and therefore reguires ng adjustment., Howewver, & swall adiuetment
some other way is required. We ¥xnow thet the printed sldereal time
in tle Tsoule of houeee &nd the Ascendant belonglng to the printed

ig

pidereal time is usuzlly not the abeclute -exact value thet riseas.
Yow, suppoeing in cur original caleuletion of the rising aign we
were off key in 1 aminute and 24 seconds; we will then be off key

the very same amcunt for the progresced soeition. In our example

for Aug,3rd 1901 we have an actwal printed.ascendant 27,35 Virgo.
Qur ascendant wes sdjusted to 27,27 Virge. This makes us 2 minutes
out of the way on the down—eide., Therefore, in tiae progressed
poalticne eech year we will pe off 8 minutes. Therefare, our vrrinted
agcendant for 1837 shows 26.19 Libra. Taking off 7 winutee gilves us
the correct hscendant &s 26 Libra 10 minutea. This is the progreseed
apcendant on August 3rd 1837 for the native. The Mid-hesven lp done
the same way.
- In order thaet your can get the ¥id-heaven absolutely ocorrect

I shell give you here a Table which showe the exmct Mid-heaven

from 5 minutes to flve minutee that belongs to the eldereal time

set next to the values, The valve of the .0, le the same for any
letitude, whether you ere born in NY or in Greenland, a definitive
sidereal time gives one and the same Kid-heaven. 3Jupposing your
sldereal time of birth hanpnene to be between two of these values

2ll you have to do is to proportion.the longltude of the Mid-heaven.
Supposing 8 certain horoscope has a sidereal time of 4 hours 3 minute
20 geconds: our vAaluee glven in the Teble below skhow:

elderenl time for 4 hours O min., is en ¥.5. of 2 Ge 5
" " " 4 hours 5 min. is an ¥.G. of 3 Ge 17!

in thie casge the motion of the mid-heaven 1s 1912' with a sid.time
motion of & minutes. Therefore we say!

in 5 minutes or 300 secende the M.J. moves 72 minutes.

in & mimutes 20 geconds or 300 seconds the H.C, moves X minutes.

equation:

300 gecorda ! 72 minutes :i: 200 seconds ! x}
x = 200 timea 72 divided oy 300;
x = 14400:300
X = 48 mirutes,

This value represents the advance of the Mid-beaven in longltude
seaeured froan the lower value gziven {in this case from 2 Gé 57),
Thersfore: 2 Ge 5' plue 48 min. gives the actual X.2. at 2 Ge 53'.
#e nave to go through this workx in order to gebt our K.C. correct
to the minute, else all our »roportioning for ¥, Rid, and MM positions
would be off and Tesults would be veTy DOOT. :

I did noet mention this before because it would have confused too
much in the earlier pert of this work, Another thing which I did net
menticon on purnose But which must be known to get calevlationes right
ie. this: when we find planete wmoving retrograde during days for wiich
we cast horoacopes, we have %o add the adjusted velue if London time
for birth is veforé noon snd add this. value to the ephemeral positio
if the ewvent falls after noon., The resason is obvious. Heongh example:
Supposing In cur test case Augn.3rd 1901, KHars might oe woving Tetrd
grade on the day of birth. Assuming that on the 2nd of Aug, it ie
at 23.41 Plsces and on the 3rd at 23.07 Fisces. Taen 1ts metion for
FhEBE 24 nours would ve 34 minutes backward. Now, in 2s much as the
oirth gegurred before noon 3 h 59' or 1/6 of that day, the motion of
¥ars in these 4 hours would be & minutes backwards. 3o that our noon
Adug. 3vd 1901 pesition at 23,07 PL regquires the additlon of these
& minutes and the actual birth position of kars would have been
23.13 Pi, If the birih supposing cecurred at & PM lLondon adjusted
time {veing 1/3 of a day) the incTement covering the 8 hours would
be 11 mizutes. Ia this case Would Would have to deduct these 11t
from 33.07 P1 and we would have 22. 56 Fi as the biTth positlon of

Eare,
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Qo
5o
1Ca
15m
20m
25m
30m

35m .

40m
45m
50m
55m
0w

S
10m
15m
20m
28m
30m
35m
40m
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S0m
S5m
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20w
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3Bm
40m
45m
50m
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Om

Sm
10m
15m
Z0m
25m
30m
35m
40
45m
50a
55m
00m

Sm
10m
pR-F.1

Permanent Table for the ¥id-heaven rfor any
Latitude North and the corresponding sidereal
S minutes.
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53m
14m
7m
S6m
17m
37m
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18m
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28m
47m
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13m
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&Ge
8Ge
2Ge
10CGe
11Ge

‘12Je

13Ge
15Ge
léGe
17Ge
18Ge
19Ge
20Ge
21Ge
23Ge
Z24Ce
25Ge

27Ge
28Ge

50m

iim
22m
32r¢
4Z2m
53m

1lm
2l
30m
3Cm
48m
58m

Tm
13m
25m
34m
42m
S2m

€m
i8m
Z26m
35m
44m
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18Le 17m
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Vi2sm
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¥i 2m
¥i22m
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¥i dm
18 Vi25m
17 Vidém
19 Vi 7a
20 ¥i33%m
21 ViSOm
23 Vilam
24 Vi33m
25 Vi55m
27 Vil7m
28 Vi38m
Li Om
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13 h 5Sa
13 h 10m
13 h 15m
13 h B0m
13 b 35m
13 h 30m
13 h 3Bm
12 h 40m
13 h 45m
13 o 50m
13 h 55m
14 b Om
14"h Bm
14 & 10m
14 h 15m
14 h 20m
14 n 25m
14 h 30m
14 h 35m
14 b 40m
14 b 45m
14 h 50m
14 n 55m
1% h Om
15 h 5m
15 h 10m
15 h 15m
15 h 230m
15 b 25m
15 h 30m
15 b 35m
15 h 40m
15 h 45m
15 h 50m
15 h 58m
18 b Om
15 b Ba
16 h 10m
16 h 15m
18 h 20m
18 h 25m
18 b 30m
1& h 3b5m
18 o 40m
18 h 45m
16 h 50a
18 n S3a
17 b Om
17 h Bm
17 h 1Cm
17 h 15@m
17 a 20w
17 n 35m
17 b 30m
17 h 3Bm
17 h 40m
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30m
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40
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55m
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In our cese the sidereal time was 5 h 45! 09", The nesTest
gidereal time in our Table shows 5 h &5’ and the ¥.C. bvelonging
tn it shows 28 Ge 34'. Qur sidereasl time 1a actuelly 1 minute
0% seconds farther or 88'.The motion of $he H.C. during the sider—
sl tize motion of 5 minutes (from S h 45' to § h 50') was 100!
or £8 minutes, The 5 minutes egquel 3Q0 seconds.oWe try to find the
metion in M. Q. during the sid. time motion of 1 ogr | )
The equation we have to useé noW is as followa:?

300 : 89 1: B8 ! x; { x is the valve we are looking for)
x = E8 tlmes 69 divided oy 30C;
x = 4833 : 300;
x = 16 minutes.

Therefore, the M.C. instead of being at the moment of birth
at 36 Ge 34m, which equals s eid. Time of 5 h 45%,
t,e. 18 minutes further, due to the birth aidercal time being
5 h 46'0%", This is the radix adjueted ¥.8. from which all the
cther positione must ve figured and even the 10th houee¢ hee to be
divided from in three parts, alsc the 9th, 3rd and 4th houee.
Therefore = straight copying of the K,C. lor ae marxed in the eph-
emeris 710"} is mot advisable, else results become medicecre.

The progreased ¥.C., which we are actually looking for here
ig found very easily. We call 5 h 45 m egual to the X.0. at birth
26 Ge 34m (unedjueted) as being O yemrs of ihe native. From here on
each year of the native's 1ife is equal to 4 minutes Iu.ther
time. Therefore, in our exemple, natal sid. time wag 5 h 46! ag ;
this equalled Aug. 3rd 1901. The sid, Time for Aug. 3rd 1902, when
the native wes one year old,®as 5 h 46'Q2" plue 47 or 5 b S170&'.
waen the native was 20 yeare oXd, i.e. Aug.3rd 1921, the progr.
sid, time was 5 h 45'Q8" plue 20 times 4 minutes or 80 minutes to

ve added. Hesults 7 h 1E'09". The necessary adjustment for the M.C.,

the one we are looking for must be made each time, of courss,as
shown im the example above, 2 Iittle ©it in varience, howiver, be-

cauge our Table is made for each

For 1937, AugPfwe have %¢ add to the otiginal sid. time 36 X 4 ain.
or 144 minutes which its 2 degrees 24 minutes,

Thus: 5 b 46 mw 09 sec. plus 2 degrees 2¢ min. equals 8hiQT0Q",
Qur Tatle showe actually8 h 10 and the M.O0. for ssme O Leo 18 min.
This bes to.be entered lnto the progressed hoTroscope.

This cowpletes the T
in fect it ocommletes the rules o

The first ome was the radix, the second one the mundane, the third
the fourth ene the mundeane mirrored and the

ene the Radix-—mirrored
’ : “he incorpertate all of them into one big hore—
The outer ring is used for the progressed

fifth, the progressed.

ecope which has five rings.
noroscope which is changed every year.

tas radixz horoscope, and marked on the Ascendant line

third ring is used for the mundane, marked H;

dix wmirTored, marked RE; the fifth for the mundane mirroxred,

The 12 houses are drawn 1n

The 2nd ring is used for
witkh R. The

proper place, according to sign and degrees wh

baving firet made the cusps entries for each uecan;_kll egtriisk
should be made with ink @xcept the progressed positiona. bee n.
entries never change; thegare peTmanent and only figured once.

ts at 28 Ge 50!

in sid.

5 minutes and not for each 4 minutes
and we merely take tke nearest sid. time of the Table and adjuet 1t.

les of how to make the pTogressed ROTOsCORE,
f bhow to make all the five hoToscoves.

the fourth for the ra—
merked MM .
to and each house 1g divided 1nt$ :hzfge
a . Bach planet, as it is located;ls entered into ul
Toper place, aceors : 7 whers it belongs, after
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T%i Interpretaticn of the
ve—~fold Hox
ﬂesaon V?acope

Cur next astep, after erecting the chart,is the interpretaticn
of the aame. First I shall gilve you the laws and then we shall
proceed to interpret them,

As stated be¥ore, we have no orbta to consider, no h
e;gna no mutual aspecta. We gre only lnterested ié anglgzs::é ?g
the MOON. It is the Moon who eeems to pe the receiver of all tae
varlous rays that come to our esrth in a Iightening—1iike fashion
Taerefore the aspectsa {the anglea) cast by thae doon to. the diffe}_
ent planets when loceted for an individusl. pirth show 18 the wa
the %ndividgal w#ill react upon tlem, v

N our soragecpe we alwaye imagine tuat the center .
the earth or, in other words the igtive for whom the hc?gigznisis
made. The four Worcscopes are stetionary Tor ever (R, Hw Mid}s
the only one that moves gradually forward at the rate éfséne éey's
motlon equale one year in time of the nativels life, is the sroc—
regged horoscope. This is the only one considered and again from
Ehia progregsed horoscowme We only watch the Moon in ite motion.

e have seen that the arverage motion of the loon per day {or for
ane yeer by progression) is cetreen 11 and 15 degrees znd some min,
This equale one year. To find the daily moticn of tals progressed
Yoon we merely have to divide this year's uotion Gty 385 or oy

3g8 if the current progressed year is a leap year (euch as 1933
1938, 1340, 1944}, This shows zn everage movement ol tue progreéeed
#oon of some 2 minntes each day, ¥e most always have a decimal with
it as we soon shall see. It is of the utmost importance %o figure
tals speclfic dally motion of the Hoon correct, else no resultis.

Thie Moon must now be watched whether or not it casts certaln
gngles towards anyone of cur filxed, steady or constant pesitions
of the 4 other horoscopes, or poesibly towsTds one of thse progreag—
ing planets thiat move certain speeds with him. A lot of people ere
puzzleéd how tals can be done guickly without taking recovrse to a
lot of so-called "asmect {irders' or other paraphernalia, ¥e wmerely
make gurselves a Tavle of the fixed posltions of the horoscope,
which we may éven cell the horoscope toc, veceuse 1t ls nothing obut
a Table of the varicue planets! poslitons. Eaca noroacope ,of course,
hag its own suck Tavle. a4 gecond Tabla is necessary, woerein we
zark a full calendar year, day after day, with columns on the side
to. inaert trhe day-to—day's positicn of the pregressed Loon for the
horascope ¥We treat. The entries always begin Fith the return of the
birth day, because we fipure our Moon nrogressed for thet day exact.
In our example the Tatle for the neative borm Aug. 3Ird 1801 vegins
?ith August 3rd and ends August Ird the following year. On Aug, srd
1237 for example we enter our calculated progressed posiiion of the
Hoo-n for 1237 or the day when that native 18 38 years old. We
add irn thie calendar eaci day 1/%85 part of the progregsed Yoon's
wotion, so that by August 3rd 1838 we have s=ntered 3€5/365 parts
i.e. the entire motion of the Moon for the year (by progressions).
After this ts completed, we insert our planetaTy positlione from the
other Tabje at the places where we meet the same values, in degreeas
and minutes and add the sign in which the plenet is as well as the
aoroscope out of which it comes (R,¥,RM MM or P).

Rhen this is done, we bave to measure the apgles between the
FIogresced koon's position {shown in the calendar) a2nd the place
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at whick t?e plenet'a position ia that is affected,
#e only Tegulre certaln angles and no others., Here the :
0 degree apart;@ 30, 45, BC, 75, 90, 105, 130, 135 Ylgée
IEE, 180 degrees. P
ghey a;etilwaya f§ll degrees and no minutes.
ome O hese an 6 have Deen gilven nares, guca 80 degr
1e called a sextile, %Os a square, 1%00 2 trine, 180@ i: ggnngiigi
O degree ig called & conjunction. Taese 5 I would suggeet 1o memo— )
rize and use, all others suggest to just call by the number of dezTess
The angles bave definite effects upon the native. The Tollowing &;gles.
ere favorable: 15, 3¢, 80, 75, 130, degrees. The follewing angles
;:; :gfa:giﬁgie; 43,_9?,tg05, 135i 165. The following angles
ay, bu ey usuglly act Just the opposite
what has been pefore: 0, 150, 180, v . FPosite way of
Let us essume that preceding a conjunciion we had a 45 degree
or a 30 degrge Brngle between the Moon and some cther position, and
then we may be safe assuming that the conjunction is going to chenge
thie matter to the beiter. On the gther uand, assuming matters have
gone fine and an guppeosition ar a 150 degree angle comes in betwmeen
the progressad HMogn and some poaition, we are pretty certain thet
something unpleasant will put 2 stop to the "upmovel.
Thie is all we have 10 know ebout anglés.
To a few advanced students {beginners should not try for the
angles #hich I guote now until later) I may say: I have faund that
80- degree angles are very lmportant Letween koon and fixed positions;
theﬂpsgal}y oring about a complete revergal, i:8. the end of a cycle:
I founé this to be true with commodities puf have not tssted it with
n=f#l charts sufficlently to 6é sure o1 it. You may test them, —
_As to measuTing the sngles between the Moon and the vositlion
of tae figured planets {including the flxed Moona) we use the inside
of our big chart, where we have ingerted the signe of the Zodiac and
just count over from the sign wherein the Mpon i85 found vy progression
and the sign the planet's poeition that ie aspected 1s located. Count
2lways 39, 603 BO, 120 etc as far as you have to go- To make mattera
easier w1ph the uneven aspects, i.e. those that are an extra 15 degrees
evay, suchk ag 45, 75, 105, 135, 165 I have "invented" 1f one may call
sghn ll?tle help an invention, ‘an idea that makes thinge easy. In the
Table of positione (last adjusted Position Table) I inserted between
the regular positions (those fiat are anzrt in muliiples oF 30) the
geries {hat are irregular. To explain this petter, we have a Table
of poeitions wherein the planets are plsced in regular rotation by
degrees and minutes from O degrees to 30 degress Dut ignoring the
sign poeition altogetner (because we Join 1t in each czse). We have
two eides within these 30 degreee: O - 15 and 15 ~ 30 degrees, What
is even on one side becomes uneven zn tne other. For example the
radix Venus of ocur exauwple is at 5.31 Virgo. This value would be
even. And the Koon passing over 5.3l Virgo, 5.31 libra, 5.31 3corplo
etc would cast first a conjuencticn, then a 30 degree angle and then
a sextile etc. Thils same Venus would alsoc ve marked under £0.31 Virge
but with a2 plus ( + ) elzn. This then would indlcate that an aspect
comes in whnen the Koon passes 20,31 Virzo, 20,71 Libtra, 20,31 %corplo
ete but instead of veing an even aspect it would become an uneven
agpect, l.e., 15 depgrees weould hawve to added %o 1t comstantly. Thua,
assuning the Xoon would oe at20.31 Virge, it would cast a 15 degree
angle tc this radix Venus and when at 20.31 Libra it would east a
45 degree angle to it. A 1lttle practice will gquickly desonstrate
the advantage of this system, In ahort, whenever a planet 1s 15 degress

‘Mars 12.3 LibraR
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away Ifrom lts fixed position we sleo heve to make an entry for i,
To ehow thie on a few examples we teke the horescope of the native

of Aug. 3Td 1801 and find:
redix poeltiona added 15 degrees to 1t

27.3 Iivra R +(R means radix) piua
Node 18.38. SBcorpio H 3.28 Scorpio B + plue

Uranus 13.2 Bag. R 28.32 Sag. R pius+

Tupiter 4.23 Qapricotn R 18.23 Capricorn R+ plus

The plus may be below the even position in the event tiat the
egen position la over 15 degrees, l,e. between 15 and 30 degrees.
Because we are not sllowed to go outeide of the sign. In the one
cegse we have t¢ deduet actumlly the 13 degrees when addling. This
mzy be shown thus: Assuming the progressed ¥oon for our netive is
at 4. 33 Libra. This would give us & sguare to Jupltier radix, If
it is at 19.23 Livra, however, we have to do with & "plua" aspect
snd We aay:!
ai from 19,23 Libra to 12.23 Scorplo there are 30 degrees;

&) frem 18.23 Scorpic to 19,23 Sagittariuvs ere another 30 degrees
er 50 all told;

¢} from 19.23 Sag. to 19.23 Capricorm are anotker 30 degrees or
90 degrees 211 told.

d) However, we had taken I5 degrees toc many because the actuel
place of Jupiter is at 4.23 Capricorn; so all we do s take 15
degrees off and we obtain 75 degrees'.as +the length of the aerect
that is formed when the Moon progressed regchea 19.23 Libra.

How to go avout to memsure progressed planets aspects
of the Moon duriag the yeax.

We have to keep = geperate gheet of the progreseed aspecis because
they are not permanent, There itg 1little change with aspecte to the
elow moving progressed planeta, but 1t 1s different with the fast
moving progressed planets such ae the Sun, Mercury, Venua, kKars.

We unave them entered in the progressed chbart only cnce A year. But,
they keep on moving during that year so ithat when the year_1s over
they are much further, They do not meke the pregression inbne
but at a ceértain daily speed swen though 1t may ve 1n split seconds.
Supposing in our example the progressed Mercury moves 1 degres in
one year (365 daye}, Then oy divielon ¥e geét its motion each day
for the year in question {the folching yeer 1t might move faster,
Tequiring ~mnother calculation): 19 = 801 '= 38500%;

3800: 365 (tc get one daya! motion) egquals about 10 seconds.
Now, let us apsuwme that we get a definite aspect between fthe pro—
gTeseed Moon and the progressed Mercury on December 2Sth 1937 and
eeeuming further that Kercury travels with the speed stated above.
In that case we have to figure how many deys have elapsed between
Auguet 3rd and December 22th: 38 daye in August

30 days in Sept,
31 deys tn Qct.
30 days in Novembper
39 daye in Deceamber
148 days have elapsed.

The daily motion of Mercury was 10 seconde; therefore! motlon from
Aug. 3rd il Dec. 29th: 10 times 149 seconds or 1480 egeconds or

1480:80 = 25 minutes.



P —————

28

Lercury hesa moved zhead from ite Aug. 3rd 1937 poeitlon 25 minutes
+il Dec. 29th. Thls value must be added to the positlion entered
with pencil in the progresged horoscope and the aspect!s position
advanced accerdlingly to teke cere of the sltumtlon. In the practical
example we euall see how that workse.

Weighing the asspects

My experlence has shown me that 1t makes little difference
whether & horoscope by progreasion of the Moon the latter forms
a trine to the radix Mercury or %o the mundane mirrored Uranus,
or to any other planet or position (H,U,RM MU, P}. They all depend
upén the mepect that la cast. For example a 15 degree aepect will
act the same way to all pleanets as a 15 degree aspect. In Iife
we are not so wmuch concerned about the detalls of how an aspect
eifects us, but we are mors concerned to know that on this or on
thet epecific day scwmething good or bad 1s. supposed to arrive,
When the time 1la there we socon sense what It le. Golag ¢ver a lot
of zetrolaglcal books,I found that they are all concerned what the
effect of a certafirehould be. On the other hend they aTe mostly
ao far off with thelr caleculations as %o the exact time of Llte
coocurrance that Lt does not do you any good. My system does not
include theee detalls, bt I may state that 1t glves you the dates
of change & good ae 1s possible with cur limited knewledge of
deeper iruths.

To pring forth sm i1llustration that ought to explain this
better, even though it mey appear to ve far fetched, I hapven to
read to-dey 1n & newspaner that there z2re 37 ways to spell the
name Bayer, some 27 varieties to spell Snelder. The governmens,
having to seggregete them all in their proper spelling, made one
big pile of them. Bayer, Bzier, Baer all 1n one pot as: Bayer.

Now in our work we have aspects of 80 degrees to Mars mundane,

60 degrees to Venus radix, to Sun progressed, etc., But all are

80 degrees angles and we throw them all in one pot! 60 degree angles.
We just note the effect of B0 degree angles never mind wkere they
come from oT where they go to, {in this eense I mean whether the
koon 18 in Libra or in Teurus, in Sag, or in Aquarius and whether
1t casts this 80 degree aspect to lars or to Jupiter, to radix or
ta mundane mirrored?. We ¥now a £0 degree angle petween moon and &
posaition brings forth an upward wovement in the nativets 1ife, When
tbe day 1s resched he will socn notice whether he tazkesfpleasant
trip or whether some ¢ash comes his way vnexpctedly or whether

his mother-inlew leaves for a while (note the effect does not ne—
cessarily have te be produced in him, but he may te negatively af-
fected as is likely %o be the case in the latter example).

The only variation that must be stated ls found in sepects to
the hecendsnt, Thev usually concern the native himself amd they
moet always concern hie health. As we now go over to rectificationa
of charte I Iike to bring forth thet versons very cften can fix
or Tectify thelr Ascendant even without the actual method which
I bring, by watching their health condition., EZepecially those that
are subject to vertlgo, sherp headaches etc can get their ascendant
carrectly without difficulty. Thev %11l note that for example, a
vertigo spell or a headache apell begins say 2t 1.12% PM on a cer-
tain day. The next day everything way be OK until at,l.lE% P an--
other spell come® on, The third day if it should reocecur, 1t will
begin exactly 4 minutes later, at 1,204PK, This 1a the progression
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of the sldereal time that causes it. And 1t is weurlly an important
planet that Just then crosases the Ascendant by traneit. This meane
actuslly that planet in the heaven st that moment ¢roeses the place
that rises in the East at the woment of veur birth, I have tested
that myself so often that I know my exact escendant by heart.

The way to find.in thisg cese your birth moment 1a to erect far
that ‘exact moment 8 chart {single chart is enough), insert all the
planets the way I showed you to erect a radix hoToecope. You most
likely will find that sowe important planet's position, uwusually
Saturn 1s at that moment either in conjunction, sguare oT opposi-
tlon to your atal ascendant. Furiher, when your time of biTth is
once down to 4 possibilities, 1t is not herd tc find the one that
ig actually it.

Hote: In the event sudden illness of sharp fevers are the start
of the the troubles then I would look for MeTe as being 4in one of
the 4 positions stated abaove,

4As fay ae tie plotiing of aspectis 1s concerned wWe must nmake
some distinction bLetween aspects toc a slow moving planet and those
to & fast moving one. The slow moving pienete are stronger in their
erffect as far ae the engle of incline 1s concerned. Thus, & trine
to Meroury R or RM, ME, ¥ or P ghould have an anzle upward when
plotting it on a chart of say 30 degrees, while a irine to Jupiter
may be plotied in an angle of 70 degrees, and & tTine to Saturn
should be plotted a% an angle of only S0 degrees {being an unfort-—
unate planet in 1tself).Tzé saae gpplles wien plotting uwnfavoranle
agpects. Any aspect begine on the day it is due and leets until
ancgther agpect arrlves. ¥othing is in-between. The good aspects
last until a bad one comes {(irn time). A seTies of good aspects
bring forth a farecast line that moves unward comsfantly (buli
maTket) and a serles of tad aspects are plotted constantly downward

until & good aspect stons the decline in thz ndtive's 1ife (bear
market],

The beginning of the last raragranhk is seeningly in contra-
dictlon %o what I szid earlier in this chanter, However, it is not;
For the beginners I believe it is important te know that a 30 degree
angle is equal or mearly so for all plenets bDelng aspected by the
Moon. The silght vartetion afterwards ia evident that Saturnis 80
anglée muist be somewhat Jifferent that that of Venus and an attempt
has beexn made to show it. However, as 1t i1a, even though you treat
all 57 degrees angles alike, yvour results will be fine, as a teat
would soom reveal,

Rectification of a Chart when tize of
2irth 1s unknown {Lesson VII

There 2re many wmethods in exisience to Tectlfy birih charts.
I believe I lave tested ms meny as anyone. I found them not reliable.
¥y method ie s€emingly complicated on %he surface, but it 1s easy
when You follow atep by step.

We know that the Moon 1s the culprit that brings forith chenges.
We know the Moon's daily progressed motion from birtn vp Lo death.
Thie we obialn from the ephemerls, progressing the Moon each day
to equal one year from the moment >Ff birth. Tach .vear we divide his
motion by 365 (the day's motion shown in the ephemeris) and obtaln
the motion from anyeone day to thz next.

Therefore, let us asgume , we only ¥ncw the day of birth and
not the time or mowent, whether morning, noon or night, however,
We also know the place of birth; the native usually remembers two
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or three events 1n his life that were of impertance to him and of
which he Lnowe the exact day. Do not uee marriages or childrenls
pirths of parenta; they are caused by all sorts of aepecss and all
sorts of combinations, such as Venus, Lercury, M.¢. etc agdpects.
Due to the fact that in most héresccopea Sun, Venus and wercury are
slose together, you cannot dietinguish whaich of the glaneps wag
the ceuse, We must teke Tecourse o difTerent events, such as:

accldents, olg changes of removal {rom one place to another,
gudden iilness and their length, operations, a sudden windfall of
money (inheritance, winning etc)}. These ewvents depend as a Tule on
one of the following planets: Kars, Jupiter, Uranus and 3zturn.

lara bringe sudden illnees and JeveT

Jupitar,money (gairs and lossea}

Uranug, sudden cheanges of domicile, of employment® .

Saturn, most anything that is slow and perststent (good or bad)

We srect the nativels horTosconme on O Aries on the Apgeddant. We
enter the planets zs of london noon as showa in the ephemerils of the
day of birth. - ,

Supposing, our native of Aug. 3rd 1801 had an accident on Lizy .
25t¢th 1837. Suppoelng we do not know when he was borm, the exact time.
But we know he was born undeT the l4th degree Bast of Greenwica and
at 48 Lorta Latitude. The accidentiwhich we assume) nappened Kay
z5th 1937. This is 85 years plus 295 daye after birth.

Step #1: The only horossopes we can make roughly (by using ihe
planets positicons as of noon London of day of virth) are:; the radix
and the radix mirrored horoecopes. The mundane and murdane wmirrored
depend upon the cugps of the houses i.e. Gpon the degree and minute
that risea in the East. 3¢ we make *these two horoscopes and place
0 Aries on the Ascendant, O Taurus on the cusp of the second house
etec and enter the planets, as of August 3rd 1801 and their mirweored
poeitions.

3tep $2: We enter in = third ring {or outaide} the position of
the Hoon progressed ss of 3B5yéare 295 days later at noon in London.
Thias means: we take the Moon's positicn 35 days after birth 1.e.
for September 7th 1801 and also figure out the provortlonete movement
this loon has moved forward the extra 295 daye, by dividing the
motion from Seps. 7th to Bent, 8th 1901 by 385 and multiplying the
Teésult by 295, This velue We add to the noon position at London of
Bept. 7tk 18CIL.
’ In the ephemeria we find: Sept.7th, Hoon et 9 Qn 1!
Sept.Sth Moom at 22 On 32!
Motlon per day wes 13 degrees JF1'.

13931 = 31l minutes; 811':385 = 2,22 miawtes per calendar day
2.6 motion of the Koon between Seont. 7th 21d Sept. 8%h 1901 which ae
we know eqguals the perisd eof August 3rd 1336 to Auguat 3rd 13937,

When we multinly these 2,22 minutes with 285 days aiter August
3rd 1838, we cotaln the additional motion of the Mcon since the birth
day. Thus: 2,22 timesg 385 = 85,9 minutes or 10955 minutes. This
value we add to the noon position at London on Sept. Vih 1901. There-~
fore: 9 Om 1' plus 10.55' equels 19 On 55T as the loon's position at
noon:urogressed Koon for May 25%h 1938, the day of the accident. ’
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Step #3: The next step for um teo do is to locate the Moon's position
dor the exact necon of the birth place, This we do Wwith logarithms.
Queatlon: If the Mgon is 2t 12.58 P¥ gt 19 CnS58' and 1ts motion

during the day is 13 degrees 31', hnow much does 1% meve in 58 wminutes?

and where is this Koon 38 minutes prior?

log,.13.31 2493
log GE' 1,4102
1,5595 or 32 minutes .
The Moon travelied in the 58 minutes just 32 minutes. Therefore at
noon of that day it ¥eme at 19.56' CQancer lesep 32 minutes or 19 On 24 o,

Step $4: After knowing the noon position of the Mcon at the place
of birth, we also knew the midnight positions of both eideas, i.e. far
midnight Sept. 7th and for midnight Sept. 8th 1901. The day's motion
we know from the ephemeris is 1393L', g day motlon ie 6945 or §.46°
Tois wvalue we add and deduct from the noon position 18.CnR24!, We get
as midnight position on one side: 12.3% On and as midnight position
of {he other aside: 28 COn 10'.

Step#5: The limit wherein the Hoon nae %o be at the time of the
accldent 1s therefore: 12.3¥ On to 38 .10 Cn. It ali depends when the
native was born, '

In order te find out when he was born we now look in the horoascooves
and aee whather or not we find that during the movement from 12,39 Cn
to 285.10 Cn we meet with an aepect to an impertant planet that could
have caused that event, Being an accident, it elther wae M¥ars or
Saturn, poseibly alsc the Ascendant (the one we loock for). It could
not have veen a favorable aspect of sny sorti; thus ®e do not look for
trines or sextiles. ¥e look for sguaree, oppositions, conjuncitdons or
agpects of similar nature that oring avout sudden changes to the worse

Step #E: Supposing we cannot find anv msepect of that nature, we
aist not think that the natlve may be btorn on sowe cther day er that
something ls wrong. It may happen that we just struck a case where &
mundane agpect orf mundane mirrored aspect caused “the event, of wpick
we nave no poeslilons; else it might have been mn asaendant aspect. e
simply veglin all over zgaln and take ancther event of importance, You
willl find that dsually the first test will give you the result, espec-
ially with accidents.

3tep #7! Assuming now that ¥e found an aspect in ocur first case
and &t 18923' Capricorn We see ¥ars in radix position {as of Londoenl.
We have to do with an ocppoettion of Progressed Moen to redix ¥are as
the cause of the event. It is mow child'e play to figure the exact
ascendant and all the rest of the paranhernalla we require to erect
& correct horoscupe. The procedure 1s as followa: (plesse do not
attempt any "short cutsh},

Step #B: Question! Then the Moon's metlon of the day is 13.31
and the moon position at place of birth 1a 1% Cn3dminutes. At what
time is the kocn at 15.23 Cancer?

Solution! Kotion te be gone backward ie: 19,24 less 16,33 or
301, Thus: log 13.31 plas log. of 3,1 egquals the tlme Letween noon
backward to the time of ewvent.

log 13.31 2453
log 3.01 3031
6838
log 65638 equale § hours 20 minutes. s

Therefore the event ococurred 5 b 20 m befsoTre noon or at 8,40 AM
Aug.3rd 1801, for which time we erect the horvasccpe all ogver again.
_ . Bfep #8 is the most difflcult to understand for moat studentse.
1 szall bring a second example for & time during the afternaon to
Tepeat the process.

In thies came we do not add, but deduct!
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etep #7 {reneated} Agauming we find an saspect of the progrensed Moon
to Baturn radix, that is that Saturn-is found between 12.39 and

26.10 of some sign which forma s cenjunction (same sign), a squaTe

(3 eigns eway) orT an opnosition (& eigns away ), then we may assume

that 1t 18 Saturn that brought forth the event. Let us now say thet

this Haturan 1ls fournd at 21,49 Cancer. This wWould mean that we have to

do with a conjunction.

Question: The .Moon's mation.of the day being 13.31 (taken from the
ephemeris) and the noon position of the Moom being 19 Cancer 24', at
which time does this Moon pasa 231.4% Cancer?

Answer:; Difference between the position wanted and noon of Mocn is

21.43 less 18.24 or 2 degrees S5 minutes.
¥e find with the aid of logarithme the time required tc pass theae
degrees and minutes- thue:
13.31 2483 .
3.25 _8870 (im this case we have to deduct!!)
7477 which log equals 4 hours 17 minutes.

Therefore the birth bhanpened at 4,17 P¥ to fit the event. The heroa—
cone =zmst e made in its five-fold form for that moment.

With this method I bave been able to Testify many horoecopes
when any doubts arcse. In case one event does not give resulte, the
second or the third surely will. It is net a method that can be used
for qulck work, but for single horoscopes that are worth while rTecti-
fying.

One iftex I have not mentioned so as te not confuse! the accelaraticn

or retardation of the Moon during one days movement. When we look

at the Noow's motion from one day to the next we find that at times
tuere is » difference in motlon of as much ms 20 o even 30 minutes.
It wmay move that amount faster the next day or it may move that smount
slower the next day. It ia understood that 1t dves not do this acceld
e€ration in one moment, but it increazes or decresses gradually. Thia
must be taken into consideration to wmake a perfect work., There are
special tekles available for it, but I velleve for the average goond
hoTosccpe you do not need them. A little head work will do the tTicgk.
To give a simple example let us say that the increase in speed of the
Yoon from one day to the next 1ls 24 miputea. This would mean that

at noon it moves the norm=1 speed (t.e. the actual difference enowWn
from noon of one day to noon of the next day), If the Moon is at noon
in the ephémeris of one day at 3 degrees O Cancer and the next day

a2t noon at 17.00 Cancer, 1te motion would have been 14°00'. The fol-
lowlng day, however, if it 15 &t noon at 1°24' Leo, then its motion
would have been on that day 149247 instesd of 14908'. The ecceleratim
frew onme day to the next was therefore 24 minutes. This morition muset
be proporticned, to give 2 gradual increzse in speed (or decrezge 1T
the Koon's motion retards). Thae actual difference in this case Would
approxinately awmount to 1 min:te per hourT. Thereiore, §& hours aftgr
noon of the first day, the koon's motion would not be 14.00, but
14.08; at midnight the Moon's moticn would be 14.12 and not 14.00

as the ephewmeris shows. This difference we Zave to consider and uae

in order tc ge% ocorrect resualts. When the motion decreases from ore
dar to the nexg, sar from 14,24 of one day to 14.00 4o the next, the
smpe progedure is taken, onily thet instead of adding we have tode-
duct. Thig Moon adjustinent 1 aveolvuiely necessary for Trectifications.
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Practicael application of the
five-fpld aorosccope

Te may uwse a five—fold horoscope for humsn bveings,made {or the

time of their birth; for fusiness hercecopes, by makXing it for the
time of the incorporation or, if a partnership for the time of signing
the agresment; for stocks, by meking the horoscope for the time the
fiTst atock certificate is issued (1f not listed on an exchange), else
for the first day of llating on an exchenge. In ¢ase a stgck is first’
liated on the Curb or at gome other exchange and then traneferred to
"the Big Board", then make a new_horoscope for the big board and for-
get about the old llsting pldce. The time le 1UAN,"8ftandard or Daylight
pevings tilme &s the case stay bDe. Do not WEECH ToTr the exact time 1t -
first was traded. It might bve at 10,10 or at 12.10 or even the rext
daey, but, Gue to the fact that no ImPOrtant aspect cccurred previcusly
that would have caused a irade, it just simply d1d npot sell; however,
it could have been traded from 10 AM on 1f one wanted to trade in it.
This is important to reccgnize. .
A Cozmodlty horoecope can be made for the time these commodlties were
first traded on exchanges, We have for example, sugar #4 {world sugaxr)
firet %raded January &th 1S37; Cottonaeed oil, first traded May 5t
1904; VU.3.Steel first listed ¥arch 28th 18015 hidem, June 4th 1829;
Rubber, February 15th 1236; bstocks 1n general, May 17ih 1782; dofiee,
Maren 7ta 1£82; outter, December 1et 1812 at Chicago. All others
gquoted were for NYC, standard, reep. Daylight saving tiaze.

FHere is & 1ist of several indidual stock listings: © .

CkO: §/233/2%; AKL: 12/12/23; ¥0: 11/19/25; Te: 11/23/21;
Curtis Aeroplane: 10/27/27; Wright Aero: 1/32/231; PUB: 10/233/28;
4Y: 9/18/09; GF: 4/123/23; JDP 2515/17; OF 1/29/31; J: 2/4/20;
ALO: §/14/83; MTC 10/9/29; FU B/1G/27; A 2/1G/97; GQ pfd 5/28/9G;
91X 2/15/23; MLL: 2/31/89; KSU: 4/3/1905; ETpfd: 4/6/23; BI: 3/9/10;
LQ: 4/13/32;6: 2/25/85; UD: 4/12/11; U™ 7/31/20; BE: 4/13/1205;
DER: 6/29/33; CW: 1/15/15; JuP: 3/8/28; WTX: z/za/ez;.upi 3/9/
3y 3/24/28; GOR: 8/5/27; BEX: 5/31/29; R: 10/1/24; GRa: 3/11/2
T: ©/4/01; AKO 10/28/20; ¥: 3/25/20; ¥WC:8/39/28; K 7/7/23%5; Aa
5/16/29; AJ: 10/28/15; IW: 1/14/20; aM 10/5/15; CLZ: 7/3/3G;
CTu: 8/10/22; IT 4/25/23; VA 12/10/19, ** .

The acroscope for-the opening of the grain exchange tack in 1859
{Chicago) does not work ard should not.be uwsed., I use the horescope
of Jan, 2nd 1587 with 19.21 Sag. rising to flgure wheat movementis.

For cotton 1 have no horosgope and this commodity bas fo be fi-
gured with other methods than.shown in thia work,

As you may emslly Tecognize, it 1g practicelly lmpossible for
traders te we epread sll over the board and in &ll kinde of commodi-
ties. To keep in close touch with eventa (aspecte) of even two or
three ie & "Man's job'.

cewr Uhw
-s

ks X R{n]

**® The zbbreviations used are thoee as found on the stock ticker
and if you don't know them, & broker will supply you %ith a szmell
booklet that contains the explanations.
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Erection of the c¢owplete sample horoscope with charts, Tai
?Td forecast as the wgrk should progress. The sid. Tiie 32133 not
gure any more, neither the cusve of the h L
dong already (pages 2-7), ) uese, oecause they were

e enter as siep #1l the degrees and minutes on the c :

qe ] mir uspa t
iicgosgeiéetageg E{:mdtag epbemeris for the latitude 48 Ngntgf(::iE'

= =] a 3 :
minutes?J. ude hag for the same time different degrees and

Begin alwaye with entering the Ascendant first (27.37
second, enter tie X.C. and correct same witl: Table of ﬁ;gevggggi’
Wext entry is the 11th house (2 Leo); next the cusp of the iatn,

{8 Virgoe/; nmext the cusp of tie gcond (28 Litra}; next the cuep’ of
ghg 3:: gﬁuse- Enfgr eraCtlYTthe same degrees on the opposite cusps
1 e opposlte aslgna., The center entry wi H

appasing ;igna easily. v il Belp you find the

atep #2: divide each house into 3 parta,equally 1
meagure first theiy entire length 1ndi€iduail§? y Sene-

length of lsg house; from 27.27 Virgo to 28 Libra.
say: tuere are 2 ag left in Virgo til we reach O Libra. plus those
in Libra added (22°0") represent the length: 2.33 plus 22.00 equal
24.33. This value we divide by 3. The result is 8911', This ls tue
lengti of one "new" decan of the first house. We vegin adding to tae
agcendant (37.27 ¥irgo) 8.11 and obtaln 5.38 Liure as the cusp of
the aga decan of the firet house. The first decan was the ascendant
1t§&l‘. To theae 5.38 Libra we add another 8.11; this gives us 13,49
Livra and this is the 3rd decan cusp of the firat house, In the céae
{for checking 1t is advised to do i1t) we add anctier 8,11, then we
sust reach the cusp of the secend hovee: 13.4% plus 8.11 équale
23,00 Lio;a.‘Thls means we nade no errsT in the division,

All tue Douses are thus divided. ¥e sghall mereiy enter the re—
zults. Qutside we place the entire length, inslde the 1/3 part, bve-—
bausetwe ;;ei the inside division later to figure the zundane éoﬂitials

step {location of the rad bst + i H
see pane SASH ix planets {planets as of birih):

step #4: location of mundane planets:
for better 1liustration I make a Table as follows:

planet ?ow far it is between where does
Tom natural de
{Eegizl Boom MTOSRT 1L,REIS,T] §§Teny mindane poetsiont
Meroury 58 m 20,20 Ja & 2 Ag
Sun 15 m 13.20 Ag & 232,20 Aq
Venuas 5031 m 3 PL & 11.9 Pi
Aszc. 7027 z 19,28 P1 & 37.27 Fi
Mars 27 3 m 5,38 Ar & 13.49 Ar
Node 5928 m 2 Ta & 12 Ta
Uranus 39 2 m 23 Ta & 3.40 Ge
Jupiter 4923 m 37.0 Ge & .40 On
Seturn lo 7 @ 5.40 Cn & 20.20 On
ko?n 3732 11,3 Vi & 17.38 Vi
P iute aglz ) 3.40 82 & 15.20 8a
H.8. 75 Com 15.20 3a 2 E7 3a.

EELER
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Figures need to get the mundane positioné of the planets for our

example:

Yenus: 5.31 x 8.9 equals 331 x 489 or 181858 :80 =2€98:60= 4°3g"
49391 plus 3 P4 = 793¢ Pi.

Asc: T.37 x 8.9 = 447x489 or 218583:60 =3843:80= £%437
£9431 plus 19928 Pt = 26 P1 11'.

Marg: 2,3 x 8.11 = 123 x 491 or 50333 :80= 1008:60= 1940

1°40' plus 5.38 Ar = 7918 Aries.

Hode: 8.28 x 10.00 = the same, i.e. 8.38
2%za! pilus 2°Ta = 10.28 Taurus.
Utanus: 3.3 x 11.40 = 182 x 700= 127400:80= 201 or 3°31'

3921 plue 22 Ta = 25.231 Teurua.

21l the others were made on the same princlple.
step # 5.and #6: 7
ne rzdix mirrored positions snd the mundane wmirrored positiome
zre then produced with the ald of Flg. 10 and the rules azs shown on
angd 18.
the progressed positions of the planets for the 3rd of Aug.
1937 which eguale the 8.01 Ak position as of Sept, Sth 18901,
They weTe also figvred with the laws explained for the radix

™ poeiticns.

pages 15

atep #7:

After all the waricus hoIpecopes are made and the planeis

sntered, we proceed to emumeraie them in 2 1ligt attempting to

in numerical order, from O degree up to 30 degrees, We paTk

ne pecegaary eizn and the hoToscome 1t belongs into.
taoee from O to S.5F,

fter tat

step #3:

get them
each degres with t
To start with we seperate them into three gectlomns:
then from 10.0 to 12,59; lastly from 22.00 %o 29,59 degrees.
we place those in regular order.

I suggest to take first ithe planets of the radix, then tle
ones of the mendane, then the radixz mirrored and lasSly jhe mndsne
airrored. The progressed positlons W& make in aseperate teble, beceuss
they have to be re-made each year, while the otiber fable ls permanent
and useful for any year of the native’s life.

On page 35 I alluded to & simplification so that we can
measure the angles quickly without muca calculatione. We zpply this
ides and make a flnal corrected Table that includes Both, the plus

aspecte (posltiome) as well asa the regular ones.




Rough Table of planetsa
intoe three groups

On Hept. R
¥4 Venus R
Ja*Jupiter R
On - Jupiter M
On 8Baturn M
Pi Venus M
AT Hers M

AT Asc. R
T2 Ge Eercury BM
GO Cn X0 Ry

43 Li. Asc. MM

33 Saliercury MU
30 Ce XNeptune MY
30 Qa MQ MM

39 Le URanus MK

Tow always must have 53 positions;

10.15
12, 3
12.28
13. 2
11,7
18.33
13.12
18. &
L 13,14
12,38
10.28
11.23
18,53
18.58
11.32
17.57
19,45
11,48
17.35
16,45
11.54
15.32

positlons, distributing them

Le Bun R

Li Mars R
Sc¢ Kode R
8a Uranus R
da Saturn R
Pt kMoon R
Ge Pluto B
Vi Moan M
8a Pluto .
Aqg Sun L

Ta Kode U
Li Koon RX¥
Sa Saturn R
Ca Uranus B
4q Node RM
Pl morg R
Ta 8un Rm
Cn Pluto RE
Sc Sun f
Ca Pluto MM
Ar XNogn i
Te Tods EW

27.00 Ge MO R
20.58 ¢n Lercury R
27.27 V1 Asc.R
33.30 8a MC X
27.320 Yeptune M Sa
21.27 Ja Mercury M
25.11 P1 Asc, M
25.21 Ta Uranus ¥
25,37 Sm Jupiter RH
24 .28 Ar Verus RY
28.32 Ge lepiune AU
22.21 Li Vernue M
20. 8 Ge Saturn L
2752 Ge Jupiter KW
Z22.42 Vi Kars 1M

check each tiwe 1f you have thex all,

Adjusted Table of the 2bove, piacing then 1o exact rotation

P

WONOOHD

10,15
10,23
11. 7
11.23
11:32
11,43
11,54
12, 3
12,35
13, 2
13.14
18.48

4
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{Tou may omlt the details belangivg

to each valu=2 Decause
£6 will

draft

final
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Finzl Table of fixed positione from O to 30 degrees
cortaining regular as well as'plus" poeitiocns, ready to use

for our ezxample.

.28 Cn Neptume R 15.28
1.46 Ca Pluto ¥ plus 15.46
1.58 Ca Uranus RK plus 15.58
2.01 On Juplter M ——=-————- -—17,07
2.25 Sc Sun MM plus 17.25
2,30 Ca Neptune ii 17,30
2,32 Ar Asc, R ————————r——— 17.33
2.57 Fi Karg HX plus 17.57
3.00 Cn WO AM 13,00
2. 5 ¥i ¥oon M plue 18.08
3.12 Ge P-luto R plug ~~——---18.12
&.28 8c Fode R plus 18.28
Z.32 PL Yoon R plus 18.33
3.43 L1 Apg. M ~—-——-——w—e—=18.49
‘3,53 Sa 9aturn R plus 18.53
4.23 Je Juplter R 19.23
4_32 Le ¥ode MY plus 19.32
4_38 Le Urapus M —————————— 15.39
4.45 Ta Sun RU plus 1G.45
5. 5 Ge Saturn K¥ plua 2C. 8
5.3 71 Venus R 20.31
5.538 Op Mercury R plua ~————~ 20.58
5,37 Ca ZLercury XK plus 21.37
£.50 Ca KC aof ~ 21.30
7.18 Ar ¥eT8 Y —m—mmm w33, 18
7.21 Li Vernus i plus 22.21
7,38 FL Venus X 22,55
7.42 Vi Yarsg L plus 23.42
5.30 3a XC i »plus ~ 83,30
8.33 %a lerovry MM ——a——— 23.33
9, 3 Ge lercury RM 24, 2
9,28 Ar Venus RY plus 24,29
9.52 On 8aturn K 24,623
10.15 Le 3un R ——mmm—— 25 .15
1C.31 Ta Uranus X plus 25. 81
10.2¢ Ta Node U 26,28
10.37 Sa Jupiter R 25. 37
11, 7 Oa Saturn R —————u—=2%." 7
11.11 P i dsc. K plus 2a.11
11.28 Li Moon HM 28.2a
11.32 Aq Node AM sommam e 28, 32
11.48 On Pluto RM 28,48
11.54 AT Moon MM 26.54
12.00 Ge X0 R plus 27.00
12. 3 Li Hars B a87. 3
18.37 Vi Asc. R plus 27.27
12,30 Sa Yeptune ¥ plus 27,50
13.35 &s Sun M 27.35
13. 2 8a Uranue R 23, 2
13.14 82 P-lutc H 23.14
14.32 Ge Meptune RAY plus 23.32

Note: original position is given
from tuis original position, but

rlus

plus

plus
plus

plus

plas
plus

nlus
plus

plus
plus

plue

plus
nlus

»ius
plua

plus
plus
plus

plus
plus
plae
rlus

plus

plus
nlus
plus

as 1s; when 15 degrees Q' away

in the same sign, 1t is marked: plus-
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Tavle of progreseed positions for our sample horoscope

as of Augnst 3rd 1937
*

2t time of birta

25,00 Virgo ¥ercury 10.00 plus
1457 Virgoe 3Sun 25.57 plus
13. 3 Libra Venus 4. 3 plus
26.10 Lizra Ascendent 11.10 plue
5.00 8corpio iare 20,00 plus
15.34 3corpio ¥ode 1.34 plus
13.00 Bagit. Urams 28.00 plue
.20 Japricorn Jupiter 12.20 plus
9.49 Japricorn Baturn 34,49 plus
13,33 Gemini Pluto 3.33 plus
1.18 Cancer Neptune 16,13 plus
0.18 X.¢. Leo 15.138 plus
%We place these positions into rotation:
c.1l8 E.C. Leo 16,18 K¢ plus Leg
1.12 Capecer Weptune 15,18 Yept. Cn plus
1.34 Scorplc Node nlug 1£.34 Scarpie ¥ede
3.20 Capricorn Jupiter 18.20 Capr. Jupiter plus
3.33 Geminl Pluto plus 18,33 Qewini Pluteo
4. 3 Libra Venuse plus 19, 3 Livra Venus
5.00 Scorpio Hara 20.00 Zcorvio ¥ars nlus
9.49 Capricoran Ssturn 24,49 Capricorn Saturn_plus
10.020 Virgo Mercury plusg 25.00 Virgo Kercury
11.10 Libra Agcendant olus 28.11 Liora Ascendant
13.00 Sagitt, Uranue 23.00 Segitt. Uranus plusg
14.57 Virgo 3un B89.57 Virgo Suan plus

Tais Table is only good
during the year it needsadjustment
ment of the planet. This increment
between August 3rd 1437 {Sept. Bth
1201 .values equalling 365 days}

Example of our horoscope: Sept.

25.128 Virga; 3ept. 3th 1801 shows

day was 42 minutes plus 1°1 min. or 194231,
3rd 1937 t11 August 3rd 1938:1.43 or 103 minutes

therefore from August

for August Jrd 1837.

For any other date
oy adding the daily moticn incre-
is %e¢ cover the interval elapsed
1961 values compared to Sept. 8th

8th 1901 shows in the ephemeris
27,01 ¥Virgo. Motion during this
The motion of Mercury was

The deily motion ®e obtain by dividing with 385:

103 :

3865 = 0,3 aminutesn.

Yhen we do reach an aspect to Mercury progréssed from our Moon

passing through the horoscope
arighnally make in our Table

méagure our aspects, we have to

question.

we must not uee our extry which we do
day to day positions of Moon)
progregsed: 35.00 Virgo, respectively 1C.00 Virgo plus,

of Mercury
but when we

; adjust thls value according to the
additional motion this planet hed since

Avguset 3rd up to the day in

IIV\II[

SEEERNERNENEND

s

Aug.

Dally progressed Koon OF our example, Auguet 3rd 1937 up
{Aspects in second column are from Table page 35)

OGE%?,OG on Bap+t.28 22919,64 -
e .19 29 21,83 92 MM D
21 38 30 ‘oz
23 157 Got. 1 28721
25 176 3 28,40
¥ BB
30 ,14 £ >
33 '3z £Mp BT 5 3497
34 152 5 T8 @
38 .71 7 39;885QX »
33 .90 8 41,54 Fraprin
41 Josg g 43,73
43 28 10 45,92
45 147 11 48011
47 158 12 50,30
49 185 1z 52749
52 .04 14 s4.88
54 123 15 58,87
56 .4 18 59,06
58 61 F® R o 17 23° 1,25
21° 00 .8 18 344
2,9 13 563
5,18 30 783
7 37 21 10,01
9 )58 32 12,30
il .75 23 14.39
12 [oa 34 16,58
i6 ,13 25 18,77
18 ,32 26 20,96
20 .51 27 23,15
Rt % 3585
24 .8 ; :
27 08 Tviud® | 30 gﬁgmcmﬁﬁ
EES PRSIl I P T ek 2L
33 .65 2 36,39
35 .64 3 3a.45
3g 103 4 4087 .
40 lz22 § 42,86
42 a1 6 4508
44 160 7 17,84
16 179 8 49,43
43 .58 g 51,62
51 .17 10 5381
53 .36 11 55.00
=5 %g 24ogg'ég
2 'us 12 z.52 TERM+ Lo
59 .93 .
15 47
239 3 .13 15 478
¢, 17 8114
6,52 18 1133
2,589 18 13,52
19 .88 20 1571
13 .97 21 17,90
’ . 22 20,09
17 45 STTH 1 los a2 2

7



Q37
K%v. 24 24934 47 Cn
_ 25

Dec.

J.an. 1
1938

oB

53,51
35002,73 TEm

280

26,66
28,86 ¢rRMT O
31,04
33,33

35,42

37,81

39,80

41,89

44,18

48,37 o a by USTing
48’55§f»ﬁ+m‘5aqumu
50,75 15
57,94 HEM

54,13

56,32

faABJUST

H

11,62
13,8 o
la'0z @2 R Mnis
1g,232

20,41 ¥ M
22,80

24,79 Lg0
26,98 v+t
253,3.'7"g .
31,38

33,55

35,74
27,93 2;»1’ﬁ.’M+E/
20,12 P
42,31 ¥
44,50
46,69
48,88
51,07
53728
55,45
57.64
59.83
3,02

1121 .
6 20 ViR 165
8,53 vem A

LS e ARG st
15,15

17,385
19,54
21.73
2392 e
26,11 pe TF 5
25 18" R M+ 7S
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Atbreviationas of Aspecta
are in common use; they
should be retained:

=]
g oapart ?;[

&
9g° o
=2

e N e 3

180° &

all other aspects must be noted
with the number of degrees.
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In cur exemple we note that Moon vrogressed reaches Mercury's
progressed place on December 11th 1937. But this is. the place
where Mercury had been on August 3rd, 1937, It uwoved since at
the rate of U,3 minutes each day. The time elapsed since Auguet
3rd, 1937, 1l,e, from the day the vmrogressed horoscope wag erected
to the day 1t should have hit Mercury is figured thus:

28 daye in Auguet, 30 in Sevt., 31 in Octeber, 30 in November
and 11 in Decemper, totsl 13Q days times 0,3 minutes or 33 minutes.
We add these 39 min, to the Mercury peeition of Aug.3rd and get the
posltion, respectively the day the nrogressed Mcon passes ¥éroury
by aspect. This, we find, ocscurred on December 29th, 1927,

S8aturn progressed, reesched by the loon in an 185% gp December
Sth 1937 needs no adjustment because Jaturn meves too slow to bring
gbout & 2 minute motlon or moTe during the 134 days that have elansed
since 1lto posltion by progression was rizxed,

Ascendant vrogressed which is reached by the Hoon with an aswe ¢t
of 80° according tc ocuT entry on January 10th, 1938 bas progreesed
further since August 3rd 1937, The ndjlastment we find from page 19.
The ascendant progresses at the rate of 42 minutes a year {365 days).
Thue: 43:365 eguals 0,11 minute per day, The numkber of days that have
pRgeed from Aug.drd 1937 till January 13th 1938 are 162, e multioly
183 vy 0,11 and obtain 17,93 minutes or 18 minutes. This value we
add to the Aug. 3rd 1937 poeiltion. We obtaln: 26.10 Libra plus 18 min,
eguala 25.28 Libra as the place of Ascendant progreased velng aspect-
ed by the Moon progressed. This falls for January 20th, 1233, & amall
fraction before the 75 degree aspect of Yoon progressed to Moon radix
mirrored.

In this way the entire year of the horoscoone ia gone through,
adding 2,19 minutes each day in our caae, entering the aswects from
the Tavle of aspects, entering the nrogressed aspects and adjusting
then wWhenever necegBATY so as to take gare of the additicnal motlon
paseed by the nrogressed nlenets.

¥hen completed, we make a sketch of events as they shauld "hit!
the native. The effects we take from vage 24, line 11 to 13, rememo—
ering that an asnect last so long until snotier arrives. The sketch
on page shows tae way the netive! 1life shovld unroll during the
neriod analyzed.

The flrst asnect after August 3rd 1237 arrives on August 10th,
1237, Venus 45 degrees; unfavorable—— lipe has to turn downward, until
August 22nd, when Wercury conjuncticn should oring forth a ckange to
the batter—— line hends uoward, until Kereury comes to opposition
of the prugressed Moon on Sept. 4th 1837: 1line has to reverse down
hill once moTre., The down trend 1s intensifiled by a 185 MO, later by
8 105 Mare, followed by = 135 Venue, until the Moon nrogreseed reachee
a sextile to Kars, Oct, Sth 1737 which ends this decliné. The upmove
czused by thig Mare should last until Oct.30th when YC. gets » 150
degree angle from the progressed Moon. This unfavoratle condition 1s
followed by a 135 Meroury, 45 Venus, souare Venus, 185 Saturn. The
end of the decline is due Dec. 7th 1937 when a 15 degree angle to
Saturn changes the direction. ¥e find a stTing of good asnects are
following: Sun 15 degrees, Uranus sextile, an unfavoratle asmect for

one daey, but a good Lercury sextile the mext day. Tewporarily the
185 Saturn puts "a kink" into the line, however, the ascendant gets
gulckly a trine, follaowed by 8 75 to the Ascendant wmhich alsg means
uorard. The day of January 20th 1232 has an unfavorable aswect first
and the good one afterwards as exsct crlculations will show. Thia
speclal day should show yov how imoortant it is to figure everything
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correctly, otherwlse, suovosing you have this Yoon 75 degree aspect
coming in befere the square to the ascendant arrives, your picture
would show a dewntrend from then on.

This way you cantinume through the year,

A new progreased Borcscope has to be made each year, The four main
horoscopes, R, M, BM and MM are permanent for all years.
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Fig.6 (see Fig.3)

43

- Fig. #9
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Special note for the erectlion ¢f horoscope for southern Latitudes:
In case acmegne 18 born in Buenos Ayreg or Capetown, we have to
add to the regular caluulation for sideresl time an exira 12 hours,
And, besides, we have to reverse the signe. Suppoeing our native
(page 45) was born 48 South, 15 Eamt, i.e. somawhere in southern
Africa, we would edd 12 hours teo the 3id., time of 5 h 46m 11s
and obtain 17 h 48mlls. The Table of housas far 48° would be con—
sulted and the veiues shown under sid, time 17.48.11 would be re-
vereed, so that the value for the ascendant would come over to the
descendent, the M0 down to the Fedir, the cusp for the 1lth would
bacome the cusp of the Sth, the cusp of the 12th would become the
cusp of the Sth house and the cusp of the 2nd would become onep of
the 8th house and finally cusp of 3rd beccmes cusp of Sth house.
Thie completed, you erect the horscope as shown herein. .
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Nognle motion thie year {1837)
139211 decreasing to 1396!
{see pge 30 oottom)
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